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Time: 3Hours Marks: 200
I nstructions :

(i) Eachquestion carries one mark.
B8 DHB0 28 S8y, Sodo.

(i) Choose the correct or most appropriate answer from the given options to the following
guestions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Shest,
separately supplied to you.

BIS AYS BO PH WRAES TEST HBS BErETEING ISNFI T S
o8 1, 2,3 88 4 3dom ad)d OMR ddred Sghns® @) Sopgd Jddm Ko
002068 DHBEL ar/ers oS Fonod WEY) GHRrAD DoDSBL.

1. Thecorrect order of stepsoccurring in nutrition in animalsis?

(1) Ingestion- Digestion-Assimilation - Absorption
(2) Digestion- Ingestion - Absorption - Assimilation
(3) Absorption - Digestion - Assimilation - Ingestion
(4) Ingestion - Digestion - Absorption - Assimilation
2B0HDYHo PlS® 38 $Fo H8GS (BS0h0

() wogFreaion - BYEAD - Fgohg8easin - §ae
(2) £g8os - wogTredn - Flm - FeohgEeaaion
(3) e - €GB - FrgohsSeason - ©odFreaiin
(4) ogFreaton - BYEAD - §he - e0HEEeasian

2. Chlorophyll isanaturally occurring compound in whichthe central metal atomis

(1) Copper (2) Manganese
(3) Magnesum (4) lron
DITB0m 0O JFTr0S0S” HEgS GoB S5 HISreD)
(1) %6 (2) $5°089
(3) Johyaos (4) 283

3.  Thecolor change of Tg) mahal isdueto
(1) Green house effect (2) Acidrain
(3) Agraisahot place (4) HighCOgas
SEHNTS SorHS® Sy B Sl Seordo
(1) B T&_ Pardo (2) e S850
() e I&m GoR KIS0 (4) ©88 CO oas0)
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4. Minamatadisease affectsthe
(1) Skeleta system (2) Nervoussystem
(3) Respiratory system (4) Circulatory system
D¢ (Minamata) 756 B & Herard) S Eood
() wRHod DY (2 & 5553
(3) =¢d 3§58 (4) B3 555
5. Permanent hardness of water can be removed by addition of
(1) Sodium Carbonate (2) Alum
(3) Lime (4) Silica
Q& FBog), TS EBS85 A Soddo Sl Sonowldiy
(1) Fédcho oIS (2) 538 (Alum)
(3) 8 (Lime) (4) o5
6. Thetypeof joint where neck joinsthe head inaman
(1) Ball and socket joint (2) Pivotal joint
(3) Fixedjoint (4) Hingejoint

SrS8HAS® D, S0 Hododwd Sev 8o
(1) =208 AZ) 8en

(2) 2% §en
(3) %Y 8ew
(4) Socks 8en
7. InFireworks, the green flameis produced due to the presence of
(1) Sodium (2) Potassium (3) Lead (4) Barium
Herdoes” (Fireworks) esgodw) S0t &) 52560 98 ok ol Eeuhdrod
(1) &&aso (2) rernosoo (3) ddS0 (4) Bsaso
8.  Which of thefollowing heating method has maximum power factor?
(1) Archesating (2) Diélectric heating
(3) Induction heating (4) Resistanceheating

& 80d TBS” wEHE 98 5EFR) LONS IAVD HES B?
(1) o6& &3of
2) B85 rE3oh
(2) Baof
(3) asd8s 3o
(4) 32PN Boh
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9. Deficiency of Vitamin E causes

(1) Rickets (2) Beri beri (3) Pdlagra (4) Infertility

DOMS E &*H50 HIJ £8:5308

(1) &8 (2) =6 =B (3) e (4) Soggdesn
10. Whoisknown asfather of Genetics

(1) Henry (2) Mendd (3) Morrison (4) Morgan

zs;éoga"@ DS BTV

D W (2) oS (3) S838 (4) 3o
11. Who proved that oxygen evolved in photosynthesis comesfrom water?

(1) Cavin (2) Hach

(3) RubenandKamen (4) Mayer

88eaasdy HoRBorK Bohe® ey e8ias A od SUWNID AETrHoNIE

() 5w (2) &5

() &rads H08c80 570 (4) FoocHs
12. Inwhichoneof thefollowing, sound travelsfastest?

(1) Solid (2) Liquid (3) Geas (4) Vacuum

& 808 T&3S” B Ho0D $0 68 S Hasredotoo

(1) Dosdwgo (2) @sdago (3) o0 (4) Hdgd0

13. Theyear inwhich Kyoto protocol was adopted?
§'ge" | @¢*sS (Kyoto protocol) o es3°8008 Hode)Eadn

(1) 2003 (2) 2005 (3) 2007 (4) 2009
14. Which deviceisused to measure the speed of wind?

(1) Altimeter (2) Cdorimeter (3) Chronometer (4) Anemometer

md ImQ) Folmds GHRrAon HOELSw

(1) ©ddb (2) 3S*60es (3) BT s (4) @31
15. Ozone holesare more pronounced at the

(1) Northpole (2) Tropicof Capricorn

(3) Southpole (4) Tropicof Cancer

LE°S Soren 8 S dyRom eotron

(1) &8s Godsw (2) r2f o5 spss

() 8eo (GoS5B0 (4) Erof &5 556
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16. Theyellow color of egg yolk is dueto the presence of

(1) Livetin (2) Phosphate (3) Sodium (4) Xanthophylls

3 Bog), S Do) 3goS” okerds 5w

(1) 8283 (2) & (3) d&cso (4) @og’ad)
17. Polymerase chain reaction is atechnique to make copies of

(1) DNA usinglivingcells (2) RNAusinglivingcells

(3) DNA usingdeadcells (4) RNA usingdeadcells

FOLVE Moo 85 HES TG0 & Bod T o SSrediiclHs)
(1) 385 o edBraAdr DNA LS (2) 385 Swrodh ¢dB3»ads RNA &
(3) Q8 errodo &dRrad: DNA S (4) I8 Serrodh &d3rade RNA &

18. Whenanacid (likeVinegar) reactswith ametal bicarbonate (like baking soda), the products

are
(1) Sdtandwater (2) Sdlt, water and Carbondioxide
(3) Water and Carbon dioxide (4) Saltand Carbondioxide
315335 $508 P08t (B8oh @ H50¢3) 2.8 ©S0 (DIKE Ho&3) wWEgT0hE, 236033
ST
(1) ol0d0 08050 I8 (2) oS0, A& H0BE» HS @ [)&
(3) A% HBosw sHIRSFE (4) oSbn SBw sHIBSHE

19. Which of thefollowing isresponsible for producing photonsin adiode laser?
(1) Fermi level shift (2) Majority carrier injection
(3) Electron-hole recombination (4) Carrier freeze out
ERrE BabS® Firsw ¢E)88 & 8od TES’ IO °EH0?
(1) 8y 835 a3 (2) R0zd8 5700506 adRES
() AoFS-F'S 550AIJNS (4) 58005 E TE

20. EI NINO, aperiodic warming of Ocean surface waters occurs in which of the following
regions?
(1) Gulf of Mexico (2) Arctic North Pacific
(3) Tropicd Indian Ocean (4) Tropical East Pacific Ocean
©ORLOBLIMT HF0H80ED) wHddwo @S, EI NINO ©3a & §0d a8S°Q Q (@rogod®
2380150030
(1) dS) 6o §F (2) 5,88 &§ HVDE
(3) ErH8S 20800 LA (4) ErHgs & DDDE LAS
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A train running between two stations arrivesitsdestination 10 minuteslatewhenit travels
at 40 km/h and 16 minuteslatewhenit travelsat 30 km/h. The distance between the stations
inkmis

3ok '5%30“150 SoEg S&T a8 Sen 40 kKm/h 3K08° Hasreddgodm wb JFo°O)S HITS
10 ddoren wodgomr D088, edagor 30 km/h 3K08° Hosreddyodm 16 ddodren
wodgomr BOSH. Todd VAL Sy drdo 8.20.08°

(1) 24 2) 12 (3) 10 (4) 20

22.

How many time zones arethere on Earth?
0 W6 AQ) S Dooderen (time Zones) esotron?
(1) 20 (2 22 (3) 24 (4) 26

23.

Consider thefollowing:

A) Theaverageirradiance onthe Earth Surfaceisaround 1000 watt per square meter

B) Onabright summer day, theday light hasaflux of around 10,000 lumens per squarefoot

C) Nuclear Fissionisthe main reason for the Sun’s hot surface

The correct statements are

(1) A,BandC (2) AandB

(3) AadC (4) BandC

& (808 B HdKBoWodk

A)  Frdo RBng) wHBSw0 W& BOA DKo DGR IEEHT a8 WEEH D65
1000 ¢y

B) &8 domsreo Swd 48 stedn Bng) 98 (FIUX) a8 S86YH wdarso
10,000 e>3o)

C) S>rdogd edddodn I8 Sos IMG B S 5w
008 TP

(1) A,B308csnC (2) A%00c50B
(3) AR0dasnC (4) BSodosw C

24,

P12

The approximate percentage of fresh water in solid and liquid stateson earth

D0 BB (B YB0S® Erad Aod BT Jod FTEo K0S (fresh water) esotood
(1) 25% | (2) 2.5%

(3) 12.5% (4) 9.25%
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25. Biomassenergyis
(1) Formed through photosynthesis
(2) Formed dueto the absence of light
(3) Formed dueto the heating by earth
(4) Formed dueto the presence of Nitrogen in the atmosphere

BIESSgoR F8

(1) 8Sevesg S0 (B T(T° JSYESE0E

(2) 5008 S*00DS sEeom S EB0

(3) &rdo JBH L0 Sod AGYES00

(4) Te5800e” SBad 0Kt S0 IS BS0H

26. Which of the following is most elastic

(1) Rubber (2) Sponge (3) Glass (4) Sted
& 808 T8S” wggdgomr ?@o@@gééééﬁo EDAIS
(1) o6 (2) & (3) e (4) &5

27.  Volume occupied by one molecule of water is? (density of water = 1 g/cmd)
08 JE w0 BEW0T Hod HoSTsD (DB ros = 1 glemd)
(1) 9.0x1022cmd (2) 6.023x 102 cm?3
(3) 3.0x10%8cmd (4) 5.2x10%8cmd

28. Inonehour aboat goes 14 km/h along the stream and 8 km/h against the stream. The speed
of theboat in still water is

08 JAS o8 Howes® Hard*d8 arenm 14 km/h &%, ©a75508 Sg@dsom 8 km/h &°%o

DESFB0DS, JOEET God DSS® HES BBoo
(1) 10km/h (2) 8km/h (3) 12km/h (4) 11km/h

29. If the temperature of the sun increases by two times, the rate of energy received on the
Earthwill increase by afactor of

Bordogh NG &0l P Do Bew WOASB, erad bl VgEdobwd ¥§ IS &
s8earogonr (Factor) 28K8008

1 2 2 4 (3 8 (4) 16
30. Who gavethefirst evidence of the Big-Bang theory

(1) Albert Einstein (2) S.Chandrasekhar

(3) EdvinHubble (4) StephanHawking

HA-zofi vezoerdd (Big-Bang theory) 30630088 888508 ad)od

(1) sdaf oa9s (2) . FogiPps

(3) &S Trend (4) QDS H%8oh
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31. Readthefollowing statements:
A) Teachers Day inIndiaiscelebrated on September 5 every year.
B) World Teachers Day isaso celebrated on September 5 every year.
C) The2016World Teachers Day’sthemeis*Valuing Teachers, Improving Their Status'.

808 Trgpgody SEI0E -

A) ESBE0S" Grrgoine ASTET) DRoE SIrd 8HEoLrd.

B) %08 arargodh aSHHod) Sra dRoas 578 a3k oird.

C) HdhYod FEdokto, a0 FFmrd I rddweo’ ©38 2016 ©HHol Garargad
SN IDggo (Bo)m dgowowd.

Choose the correct statements: / $38 argpgoss 8eohod:
(1) A&B (2) A&C (3) B&C (4 AB&C

32. Readthefollowing statements about the National Science Day:
A) TheNational Science Day iscelebrated every year in Indiaon February 28.
B) Itiscelebratedto mark thediscovery of the Raman effect by Indian Physicigt, C.V. Raman
C) Itsthemefor 2016 is* Sciencefor Sustainable Devel opment”.

2B DY) A0S H020080DS Bod TgpgO WSHod:

A)  BI PrEERF0S® (K JDodB)Bo DENE 28°%0 2282 B0ETEd

B) &8s &a8 RY38 2.9, 07508 SIDBS ‘THS Barso S Hdym BID 2EE0trd

C) 201650580708 80 ) & Idggom (theme) ‘éo?egd @aéag’ (Sustainable
Development) §85 depso (Science) &o dodg Bardo.

Choose the incorrect statement(s): / $85°Q argag(e)o JoDE Bosod:

1) A (2) B&C (3) C&A (4 AB&C

33. Readthefollowing statementson the ‘World Habitat Day’ (WHD):
A) Itisobserved every year onthefirst Monday of October.

B) Itamsto raise awarenessabout the need for affordable housing for all inurban aress,
citiesand towns.

C) Thethemefor 2016is‘Habitat for All’.

DHo% dard (Habita) &S0 (WHD) % 50208008 (§od g WEH08:

A) 8 D058)80 BAJ w6 I FoTdoTd 2EYS .

B) 4 @osred’, SKond, STES” 90688 Fhod odornod K esigisl,
OIMIS é@soiéééo & S Eydo RoE), RS oggo.

C) ‘wocd8 dzd0” oI Haods 2016 5 HoSHTAE JouhEeT)K.

Choose the correct statements: / $38 argpgoss 8eohod:
(1) A&B (2) B&C (3) C&A (4 AB&C

P12 9-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

GS1 Booklet Code | A
34. Assertion(A): National Mathematics Day isobserved on December 22, every year from
2012inIndia
Reason(R): It is celebrated as a tribute to the mathematical genious Srinivasa

Ramanujan who was born on 22" December 1887.

The correct answer is:

(1) Both(A) and (R) areindividually true, and (R) isthe correct explanation of (A).

(2) Both(A) and (R) areindividually true, but (R) isnot the correct explanation of (A).

(3) (A)istrue, but (R) isfalse.

(4) (A)isfase but (R) istrue.

B8>S (A): 280 K88 B0 (FASS Sridoeds) R S JoSLhdo &oas 22
T erEsBF0s” 2012 $o0& 28RB0L0TY.

80 (R): 1887 &0206 22 376> 23:0p0& HedSa g trfocdochy 3 AT 0rSroaSEo
ATEI BB OIEAE & BIQ) 28YTvotrd.

é@:é Jddraedo:

(1) (A) S08050 (R) Bodr Sg8rson ¥88a), S0dasn (A) & (R) 8§08 Jsdeo.

(2) (A) S08050 (R) Bodr Sg8Kgom K380, 572 (A) & (R) $38 dd5de0 5°¢k.

(3) (A) 5386, 53 (R) 823.

(4) (A) 85, 3 (R) $o86.

35. ldentify the correct statements from the following:
A) MeghnaPant’s short story - People of the Sun
B) AyazMemon'sbook - M.S. Dhoni : TheMan, The Leader
C) Sabalmtiaz- Karachi, You' reKillingMe
808 ¢ 00 KBS gD DoNE B0k
A) o) Hos BE, AL 8 - DS ©H & DS (@ogoeb“)
B) e0ird 008 Hogo - 20.98. §R 1 & 9, ¢ 986 (sofods’)
C) D20 aosrE - Eord), oS &b 8Qof A (sooes?)
(1) A&B (2) B&C (3) C&A (4 AB&C

36. Readthefollowing statements:
A) Russiaisthelargest producer of ail.
B) Saudi Arabiaisthelargest producer of gas.
C) Venezuelahasthelargest reservesof ail.
D) Thelargest reservesof gasareavailablein Qatar.
8o argpgod BES0k:
A) 082E sond &HBTH - Sy,
B) o8¢ mgd ¢HB8md - b 93OS,
C) o080g wond Jeosen o 3o - Iawrer.
D) o8¢ mgd deoden fo G¥o - ped.

Choose the incorrect statements: / $85°0 argpgoss BenHod:
() AB&C (2 B,C&D (3 AB,C&D (4 D,A&B

P12 10-A
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37. Readthefollowing statements:
A) TheUSpresidential election isscheduled for November 9, 2016.
B) Donald Trumpisthe presidential nominee of the Republican Party inthe USelections.

C) Hillary Clinton is the presidential nominee of the Democratic Party in the US
elections.

D) Hillary Clinton has served asthe US Defence Minister, earlier.

808 Trgpgoy SEI0E :

A) 905S" @& INEen SHowb 9, 2016 Tk e ow.

B) 930085 ad8od® 03985 rf wgg wiEgdmr &g ©oh FEST ear)k.

C) o085 INEoS® FIrEE38 rf @i @esggrv b Sobod FES* wod.

D) #80&® red Sos ©R005° S Hro@m HIWB0B.

Choose the incorrect statements. / 2 a°8e&° $05°Q (859) Frgpgos Jong Bo00&:
(1) A&B (20 B&C (3) A&D (4 D,A&B

38. Readthefollowing statementsabout ‘ Global Competitive Index’ (GCl) :
A)  World Economic Forum hasrel eased the Global Competitive Index.
B) TheUSA hastoppedthelist of Global Competitive Index, 2016-17.
C) Indiaisranked 39" out of 138 countriesin the 2016-17 index (GCl).
D0 FE JrdE (Tad 520b8BS R0a8)-GCl)E Howodods Bod Trgpgels $EHod:
A)  BD0s ©98 I8E BHod FE SrR¥s ddde B1os.
B) 2016-17 50580708 & SrDES® ©3085° Hoosng TrEken B0l ) Fodod.
C) 2016-17 508 $5760 138 Brrod’ arddddo 398 Q) Fodod.

Choose the correct statements: / $38 argpgesc 8enhod:
(1) A&B (2) A&C (3) B&C (4 AB&C

39. Readthefollowing statementsabout ‘ International Day for the Preservation of the Ozone
Layer’:
A) Itisobserved every year on September 16.
B) Itwasdesignated by the UN General Assembly on 19t December 1994,
C) It'sthemefor 2016is‘Ozone and Climate: Restored by aWorld United'.
‘@oSTEOH LE°S BoE H0EE BI0E HooHONS Bod Trgpges WES50d:
A) 8D B8 dod)do DRPoNE 16 7y 28HYB LT .
B) wggorag 08 rarde de 19-12-1994 ¢ & ASTQ) 8085008,
C) 2016 $058)078 "8'S $o8a5n arerSdwo (climate) : o8y ©Hol HIHESe’
(Ozone and Climate: Restored by aWorld United) @8 §58 dgonomd.
Choose the correct statements: / $38 argpgoss 8eohod:
(1) A&B (20 B&C (3) C&A (49 A,B&C
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40. Readthefollowing statements:
A) Indias*Valley of Flowers isapart of NandaDevi Biosphere Reserve.
B) ItisIndiassecond biosphere reserve established in 1986.
C) Itislocatedin Tamil Nadu, Keralaand Karnataka.

Bob Frgpgod KES0é ¢

A) SozBd darsder (biosphere) 8:8xes® w8 eridh rddldfos® &) o &'k’
(valey of flowers).

B) 1986 " ¥Howeds abd rddlios” Boks $ardden Dads.
C) b Séard, 38¢ Sdasw STLES' &d)d.

Choose the correct statements / $38 Srgpgeso Bendod:
(1) A&B (2 B&C
(3) AB&C (4) C&A

41. Matchthefollowing:

Award Awar dee
A) DhyanChandAward I) DipaKarmakar
B) DronacharyaAward [I)  Mahabir Singh
C) MaulanaAbul KaamAzad Trophy ) Satti Geetha
D) RagivGandhi Khel RatnaAward V) PunjabUniversity
8ol B BEDSWok:
T8 T8 (o
A) g Hob v ) &5 5586
B) Seorardy vady )  S050E oo
C) T wend Eoro werd (9% 1y 38 A
D) o2s mobd BS 88 v V) Sowrd ddcdargocio

The correct pairsare/ $38 sgen:
A B C D

@ | I vV
2 N Il | I
3 I vV |
4 | IV I
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42. Matchthefollowing:

Name Sport / Game
A) Neerg Chopra )  Swimming
B) Mariyappan Thangavelu 1)  Shooting
C) S PradeepKumar ) Javelin Throw
D) JthuRai V) HighJdump
8o I BSEHEWok:

& esd /86
A)  EE S ) & (?oogé’.)oéoﬁ)
B) $o00d)e dorSen ) &oe30h
C) 2% PED S5r6 ) =385 &
D) &£ orow V) % 209

The correct answer is/ 38 dsoearso:
A B C D

) I | v
2 \YARRTT |
3 N | I I
4 v | I

43. Readthefollowing statementsabout FIFA World Cup:
A) - TheFIFA World Cup, 2014 waswon by Brazil.
B) TheFIFABdlond Or, 2015award for theworld' sbest player waswon by Liond Mess.
C) TheFIFAWorld Cup, 2018 will beheldin Russia
D) TheFIFA World Cup, 2022 is scheduled to be held in Argentina.

P QN0 EHEY D020060WJ (8od Frgwgod WEI0E:

A) D KHow D, 2014 S BRS Renthsod.

B) & Bos &85, 2015 ward)dh @0t e8igds eLmdm oRBnIS R0 Reodrom .
C) 2o ©dol 83, 2018 Sarges® 2dreod.

D) & ©®dow 89, 2022 & wgodars® addrod Jgonowd.

Choose the correct statements / $38 Srgpgesdo Beodod:
(1) B&C (2 A&D
(3) A,B&D (4 A,B,C&D
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44, Assertion(A): The RBI has brought down the repo rate by 0.25% to 6.25% on

September 4, 2016.

Reason(R):  Thereduction of repo rate reduces the rate of inflation in the economy.

(1) BothAandR aretrue, and R isthe correct explanation of A.

(2) BothAandR aretrue, but R isnot the correct explanation of A.

(3) Aistrue but Risfalse.

(4) Aisfdse butRistrue.

The correct answer is:

@8>rSS (A): 04-09-2016 sock B8 ergodo B Bendy 0.25% &hod, 6.25%
Qgonood.

s°e0 (R):  ©F Bt Shod S ©08 $55JS° BT geye Bl S5Hs00b.

ISTSINIRSISIm o

(1) (A) 00050 (R) Bodor $059, S0dasn (A) & (R) $38 J58e.

(2) (A) 5000350 (R) Bodr $885, 52 (A) % (R) 938 25880 s°¢%.

(3) (A) 388, 5 (R) 8.

(4) (A) 85, 53 (R) $od6.

45. Readthefollowing statementsabout ‘ Gold M onetisation Scheme’ inIndia
A) Itwaslaunched by the Central Government on 5th November 2015.
B) Therateof interest offered under the schemeis 3% per annum.
C) Theschemeisexempted from capital gainstax on earnings.
‘DO (gL HEE0E How0RoN Bod Fggss HESod:
A) & 5650 So webeco 05-11-2015 sredo (EoDoR0b.
B) & $&80 ©5°80 2058078 3 S0 5§ Béw BOouwtrEod.
C) < 5880 Jorddep Sreds ord H) S0 Gotnod.
Choose the correct statements / $3 argpgeso Bendod:
(1) A&B (20 B&C (3) C&A (4 AB&C

46. Readthefollowing statementsabout child marriages:

A) ‘ChildMarriage Restraint Act, 1929’ fixed the age of the marriagefor girlsat 14 years.

B) ‘Prohibition of Child MarriageAct, 2006’ raised the age of the marriage for girlsto
18 years.

C) Th?a/ 2011 Censusfound that 18% of women were married before 18 years of age.

erog JarStody $020500S §od 5.7"53359563 LES0&:

A) BG S50 BRod IF, 1929 erdfe ¥ Do Sosdydd 14 Soddoreom
Qgoood.

B) ‘@ordas of 3G Srgof 2F, 2006 erdfe 810 dardr o5yl 18boddoresh
RoN0A8.

C) 2011 zaer deroste 580 18 @0 H08 Roo 18 Sodore $o5d9S™H
29y =0mon.

Choose the correct statements / 88 argpgeo Benhob:

(1) A&B (20 B&C (3) C&A (49 A,B&C
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47. Whichof thefollowing are Nav Ratnacategory industriesin India, ason May 31, 20167
A) Rural Electrification Corporation Ltd and Power Finance Corporation (PFC)
B) HMT (International) Ltd. and MECON Ltd.
C) HALandMTNL
D) BPCL andQOil IndiaLtd.
(1)) A,B&C (20 B,C&D (3) C,D&A (4 A,B,C&D
31-05-2016 5°¢38 2r8$RF0eS® §od 7¢3eS® S38H) Derr) H/ESoeo AD?
A)  rdoes Dcﬁogéédea %08 (REC), g D¢ K)o{% (PFC)
B) rodars Has Lrd) (wodgdch), o5°s
O E.2.06., 20.8.08.08.

D) £.22.08., 800 0805
(1) AB&C (2) B,C&D (3) C,D&A (49 AB,C&D

48. Allowing private sector to set up more and more of such industries as were previously
reserved for public sector iscaled as

(1) Globalisation (2) Privatisation

(3) Socidisation (4) Liberalisation

08K Yo HE0E; SormIS TEr020QS HOFSHOK (RIE Sorod’ ILFTLYEIE JEY S
OB ) ATTQ) BI0LTE?

(1) ©Hodgse (2) G.33é3§<599

(3) Sr=8sde (FUSRAS) (4) 38988

49. Readthefollowing statements about service sector in India:
A) It contributed above 60% of GDP in 2015-16, according to Central Statistical
Organisation (CSO).
B) Itcoversawidevariety of activities such astrade, hotel, transport, communication,
real estate, insurance, financing, business services, etc.

C) Indiaisthesecond largest services exporter in theworld.

TESBFOS” DI $omrd8 Ho20HoNS §od FTrgpgosd WHok:

A) Solg Hesro8 B0y (CSO) wsedo, 2015-16 &° o Soo 60 &8 Mod dre
85538180 (GDP) $5:608108. |

B) J& oKoe® 800 D""géﬁ,t DI, Sareae, Eorg 8RS, Sd8o, FFS, dgo, Tgrd
R0 INGEBS IYYS sEgErrer A& oo,

C) HD0%0eS® DO 0BS® er8SBFo BokS TIQ) Fohod.

Choose the correct statements / $38 Srgpgeso Bendod:
(1) A&C (2) A&B (3) B&C (4 AB&C

P12 15-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

Addal2417
GS1 Booklet Code | A
50. Matchthefollowing:
Name of the Person Award (2016)
A) BezwadaWilson [)  DronacharyaAward
B) DeepaKarmakar [I) RamonMagsaysay Award
C) Nagapuri Ramesh [l ArjunaAward
D) LditaBabar IV) Rajiv Gandhi Khel RatnaAward
8ol & BEDHSWo&:
558 & o> (2016)
A) Bed ) ) Serardy oo
B) &% som86 ) oodoS D vy
C) oK) 8 ) o8s vard
D) o988 226 V) oS mob BS 88) v
A B C D
@ \Y, 1 I
2 WV 1 I I
@ 1 \Y, I 11
% m I | I
51. Readthefollowing statementsabout poverty:
A) Periodica estimation of poverty in India is conducted by the Central Statistical
Organisation.
B) InlIndia, the accepted average calorie requirement per person per day in urban areas
is 2,400.
C) InIndia, the accepted average calorie requirement per person per day in rural areas
is 2,400.
2385°A8 0200800 (808 TP BEH0E:
A) rE8BF0S° JoHME 5°w0S° DEBEY WouT OK Bo KearoE DoP BHE0b.
B) 388306 Hi Foss® uf Fad® wf 5388 Brtns 2,400 sobe wSigis
G083 ®ohgdodHadod.
C) worf, r8dBIoS’ (T o el Seard® a8 $588 Hrtnd wohgdodwdsd
sroden 2,400
Choose the incorrect statement(s) / 3 o°¢3¢5° %850 (8:9y) Trgpg(@)So oD Bohod:
L A (20 A&B (3 B&C (4 AB&C
52. Theincreasein edible oil seeds production was dueto:

(1) Yelow Revolution
(3) GreenRevolution

(2) WhiteRevolution

(4)

Brown Revolution

J0& JSr3 AET0 GG DENEIE PN 580!
(2) 38 DHS0

(1) %208 (o) dp%o

(3) 88 IHHo
P12

(4)
16-A

HesoS0 Z)Kgéo
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53. Readthefollowing statements:
A) The'Operation Flood' programmewas successfully implemented from the year 1966.
B) The‘goldenrevolution’ refersto the development of turmeric production.
C) The'bluerevolution’ refersto the remarkable emergence of aguaculture.
D) Thestatewhichtopsinthecultivation of flowersisTamil NaduinIndia
Bob argpgody KES0é ¢
A)  ‘es5BAS QS’ H§5°Q) 1966 dode)do S0 duchSodom whoen 3&_305363.
B) 900 Dol @5 00 DNH0" Bew)Edod.
C) osgEend (so $g0arai0) _5“36?5‘001 ERRESS 35)%@“@& ‘DO &’)éc‘éo’ BeoHsiod.
D) &ro wdgos® dady o°go B90S° B FSos® wod.
Choose the correct statements / 538 argpgoso Bevdod:
(1) AB&C (2) B,C&D (3) C,D&A (4 AB,C&D

54. Readthefollowing statements:
A)  Thenew chairman of PressTrust of IndiaisRiyadh Mathew.
B)  Sudhir Pratap Singhisgppointed asthe Director Generd of Nationd Security Guard (NSG).
C) The new Director General (DG) of National Disaster Response Force (NDRF) is
R.K. Pachnanda.
Bob argpgody KES0é ¢
A) (PR LR B9 20805 S8 BES - BASFE Sogog.
B) &% s mey (NSG) BoE6 as8Sm %086 pherd 2o dcsHdoodnm .
C) rdaH &rds o)) #°9) (NDRF) Sr8S 3086 238Sm 963, $880d

QO3 0D2T .
Choose the correct statements / $38 Srgpgeso Bendod:
(1) A&B (20 B&C (3) C&A (4 AB&C

55. Assertion(A): Cell biologist, Yoshinori Oshumi isawarded the Noble prizein Biology.

Reason (R): Heis awarded for his discoveries on how cells recycle their content,
through aprocess known as autophagy.

The correct answer is:

(1) BothAandRaretrue, and R isthe correct explanation of A.

(2) BothAand R aretrue, but Risnot the correct explanation of A.

(3) Alistrue butRisfalse.

(4) Aisfase butRistrue.

BOXSS (A): 8o 25 TYIE 200 BATO W8 $ITH0S" SBS 2IvHd
Wy BoHwdod.

s8m0 (R): gegred @ DGO ¢ e DITHB0 WYHSFr BETTDA (autophagy)
QB0 T°g0° A8 FBS 20508 Fomrdd.

D08 ddorerido ¢

(1) (A) 00050 (R) Bodor £059, 00080 (A) & (R) $38 d58e.

(2) (A) 500050 (R) 3o 3885, 522 (A) & (R) 838 25880 s°¢%.

(3) (A) 388, 5 (R) 8.

(4) (A) 85, 53 (R) $od6.
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56. Assertion(A): TheNoblePrizein Economieswaswon by Angus Deaton.
Reason (R):  Hisanalysisof consumption, poverty and welfarewaswell recognised.
The correct answer is:
(1) BothAandR aretrue, and R isthe correct explanation of A.
(2) BothAand R aretrue, but Risnot the correct explanation of A.
(3) Aistrue but Risfalse.
(4) Aisfase butRistrue.
R8FES (A): 08TH08° FBS 0F0Hd wors &S Reodromd.
80 (R): 3)&)033*(‘10 080 H0da0 HOEH0 WS JIhe wosLr KHBowWwE0s.
ééeé ddraelo
(1) (A) 508050 (R) Sodr $059, 508050 (A) & (R) 588 d5eo.
(2) (A) %8050 (R) Bodr 3852, 520 (A) & (R) $38 D580 s°&0.
(3) (A) 388, 50 (R) 8.
(4) (A) 85, 3 (R) $o86.

57. Asperthe62™ National Film Festival Awards- 2015, which of thefollowing pairsare correct?
A) Best Telugu Film - ChandamamakKathalu
B) BestHindi Film- Queen
C) BestActor - Dhanush
D) BestActress- KanganaRanaut
625 8% SoSDE Hodl ey -2015 H5edo Bod TES® O wdwn HOBKI?
A) &g B Fod Qo - Foddrd Sden
B) &85 rod S0l dgo - 88
C) &85 Stk - 8o
D) &g &8 - ol oIS

(1) A&C (20 B&D (3 A,B&D (4) AB&C
58. Thenewly appointed Chairperson of the Ethics Committee of Lok Sabhais

(1) KaranSingh (2) LdKrishnaAdvani

(3) Murai Manohar Joshi (4) SharadYedav

S°50e IBE Do 8 Srdd ©FgBAT eSB!

(1) 885 0% (2) od 8] o

() B089 H0S56 & (4) #8& Sr&S

59. Readthefollowing statements:
A) ‘SwachhBharat Abhiyan’ waslaunchedin Indiaon October 2, 2014.
B) SwachhBharat Abhiyan aimsat attaining afully open defecation free Indiaby 2019.
C) “Swachh Survekshan Gramin 2016’ report has adjudged Sikkim asthe cleanest state.
808 Trgpgoy SEI0E -
A) o806 2, 2014 & (oogz% 78S WHOSTI BsEoDow .
B) 2019a°éf)§ o ropletely] :530&’):0(536 8570 ePESREL0E8 FHoTHE “25’5:) TES VHAFS wFgHw.
C) ‘ordoeo S5y TgEeES - 2016 9368 28,0 TEEQ) @850 HBDES TP o PEGNB.
Choose the correct statements / 538 argpgos Beodob:
(1) A&B (2 B&C (3) A&C (4) AB&C
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60. Char dham project isto build new national highways connecting
(1) Thefour shrinesof Kedarnath, Badrinath, Gangotri and Yamunotri
(2) Thefirstfour smart citiesin India
(3) TheNorth, East, West and South of India
(4) Thefour shrinesof AnantaPadmanabhaSwvamy Temple, Tirupati, Kedarnath and Badrinath
808 T8S’ ) TQoBI E0YEr §E 80 Sradlo DT TETa (FRRD
SO0 E?
(1) 305§, aB§, Ko S08a50 dHSNS8 v 4 Heagse e
(2) r88B50S™A InEE Ty & Sioren
(3) &85, Erday, HeEH8 $o8050 i TESBYo
(4) o808 HS e I B 000, BHHS, TEOTE 005N BTE W 4 YwgiE e

61. Accordingto 2011 Census, the state with lowest literacy rateinIndiais

(1) Tdangana (2) Madhyapradesh (3) Bihar (4) Chattisgarh
2011 zorgr BE© ©5°00, WrEERI0S” wdgey WETFgE TSI ovHo
(1) 8eorrs (2) Sosgdas (3) 2556 (4) w86
62. According to 2011 Censusthe state with lowest population sex ratio in Indiais
(1) Punjab (2) Hayana (3) Guaa (4) Ragasthan
2011 e B0 @560, P8SRToS” S8 & (f’_oo DR ARG Ko o°go
(1) DHoerss (2) &rogd (3) uos (4) oags
63. Matchthefollowing
List-1I List- 1l
a)  Sardar Sarovar dam 1)  Anamudi
b) ~ Highest mountain peak in South India ii) Agnigundaa
c) Todas i)  Narmada
d Copper Iv)  Nilgiri
236825 80TS0 00!
>OS - | DS - |
a) dF6 H5S6 @go 1) oI3srd
b) &8s erdgddos® I8S K8 3pdo i)  whhome
C) S&men - i) S
d o V) Qoad

The correct answer is
HOGY HIPFTHIN
a b C d

1) v i i i
2) i i iv i
(3) i i iv i
@) i v il i
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64. Matchthefollowing
List -1 List-11
River Tributary
a Gaga i) Bhima
b) Brahmaputra i)  Wanganga
c) Godavari 1) Teesta
d) Krishna iv) Kos
Bod B BSLBT[80:
TS - | DS - ||
(3&) (w538)
a KoK i) 9%
b) & i) 39 Korr
C) AodSd i) &
d & v) &%
The correct answer iS/ 588308 S5E° S50
a b c d
QL v iii ii i
(2 [ ii i iv
3 v i [ i
(4 [ i iv iii
65. Matchthefollowing
List -1 List-11
Thermal power projects Sate
a Dhuwaan i)  Orissa
b) Korba i)  Telangana
c) Kothagudem 1) MadhyaPradesh
d) Talcher Iv) Gujrat
Bo8 B 2SLBTH0:
TS - | e - |
(855 2&%gE Towen) (c"@o)
a I8 1) 20ay
b) ¢&o i) Boomre
C) &gKrao i) Sodgdas
d e V) oS

The correct answer is/ 588308 9556750
a b C d

Q) v i i i
2) i i i iv
(3) v il i i
4) i i v i
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66. Matchthefollowing
List -1 List-11
a Bandipur 1)  Uttar Pradesh
b) Corbett i)  MadhyaPradesh
c) Kanha 1)  Uttarakhand
d) Dhudwa Iv) Karnataka
8ol I8 BSHSWH0:
DS - | e - |
a 200835 i) &d3HaT
b) &3¢ i) Sogsgdas
c) sQ, ) wsSpok
d) oo V) S
The correct answer is
HOGY HIPFTHIN
a b c d
D v iii i [
(2 [ i i iv
3 v iii [ i
(4 [ i iv iii
67. Matchthefollowing
List -1 List-11
Coal field Sate
a Ranigun 1) ~ WestBenga
b)  Singrauli i)  MadhyaPradesnh
c)  Singareni lii) Tdangana
d) Jhaia Iv)  Jharkhand
Bo8 B BSBBH0:
>OS - | D& - |
(&t Fe) (eg0)
a) oo 1) 93 BorrS
b) 2oF® i) Sodsgdas
C) 2oiosd i) Beoomre
d) erbasr V)  ergob
The correct answer is ‘
HOGH BAPGHID
a b c d
D v iii i [
(2 [ ii i iv
3 v iii [ i
4 [ ii iv iii
P12 21-A
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68. Matchthefollowing
List -1 List-11
Waterfall River
d Dudhsagar i)  Mandovi
b) Kapildhara i)  Namada
c) Hogenaka i) Cauvery
d Jog Iv) Sharavaty
Bod B BSIBTH80:
TS - | DS - |
(2o>s$0) (%8)
a Sr&¥>KS i) $00&D
b) &oSmo i) S
C) FmES i) 538
d A V) R[o°58
The correct answer is/ 588308 S5e° S50
a b c d
D v iii i [
(2 [ ii i iv
3 v iii [ i
(4 [ ii iv iii
69. Matchthefollowing
List -1 List-11
River Source/origin
a - Cauwey 1)  Brahmagiri Hills
b)  Narmada i)  Amarkantak Plateau
c) Sabarmati li) Aravali Hills
d Krishna Iv)  Western ghats
Bo8 B BSBBTH0:
>OS - | DS - |
(3&) (&é@@;éo)
ad 5308 1) @0 Soden
b) S8 i) o880t DD
C) D808 iii) 0739 Foden
d & V) 53y Elodoen

The correct answer IS/ 588308 SX55° 50
a b C d

@ v i i i
2 i i i v
3) v il i i
@) i i v i

P12 22-A



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24(7|

70.

Match thefollowing

List -1

Proj ect
d Rihind
b) Sileru
Cc) Mettur
d  Almatti
Bod B BSLBT[80:

DS - |

(&asy)
a 08%rob
b) 8%
C) Dolopd
d &%y
The correct answer is
HOGH HIPGHID

a b c

Q v iii i
(2 [ ii i
3 v iii [
(4 [ ii iv

GS1

i)
i)
i)

V)

i)
i)

Booklet Code A

List-1l

Sate
Karnataka
Tamilnadu
AndhraPradesh
Uttar Pradesh

DS - ||
(og o)
gopéos
EAF I~
SoBDRT
SSEDBT

GET IT ON
Google Play

71.

P12

Read the foll owing statements

a Monsoonisawind system inwhich the direction of winds arereversed seasonally
b) Monsoonwindsblow from seato land during the summer season. They are moist and

bring rainfall.

c) During winter season, the direction of monsoon wind is from land to sea in a

south-westerly direction

& 180d D5 WBH0& -

8  0HIITSE 750 IgIY. RoS® Mo BY RS T Srdad.

b) B3I5°008° adddTrer H50Eo od Frans . B Bk O wod

SEFS I 00.

C) 385008 wnHIIT 0 J208 IS grdd o0& JS0EEo IYF JIrow.
Which of the above statements is/are correct

DEBS® B HORS ISEed
(1) a&c

(2) b&c

23-A

(3) a&b

(4 abé&c
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72. Readthefollowing statements:
a) Laterite soilsareformed dueto intense Leaching because of high rainfall
b) They aresuitablefor plantation crops
c) TheyarefoundintheKeraastate.

& (808 VI WLHod

d) o8 SEFrEo 5@ Wrdd MO T8 &P o Jo Byderow

b) rtdEs Joen & SgIFasrIE H8BoID

C) 2 38s T°Hos” Gaow

Which of the above statementsig/are correct

DEBS® B HORS SEed

(1) a&c (2) b&c (3) a&hb (4 abé&c

73. Readthefollowing statements:
a Black soilsareideal for dry land farming.
b) They have moistureretention capacity.
c) Black soilsare suitablefor plantation crops.

& §od Trgpgo WEI0E ¢
a) DY SgIFraH FHE S9KE Frdnen wssreo.
b) 38 850K 89S P00 VeoPBI ¥§ Swdk.

C) S0KG grdnen &' SgIFairdd S0ROS.

Which of the above statements is/are correct

DEBS® B HORS ASGen

(1) a&c (2) b&c (3) a&b (4 ab&c

74. Readthefollowing statements
a Himalayasareyoung fold mountains.
b) They areuplifted from Tethyssea.
Cc) TheEast-West extent of Himalayasisabout 2500 kms.

& (808 VI WEHod

8 rdredirer S S06E Hdieren.

b) o B&S dSwoo Sood 28 Bhagow.

C) riredirer drddy-Hhdoor o) 2500 8.vw FPEHE DJOOD eI,
Which of the above statementsis/are correct

DEBS® B HORS ISEed
(1) a&c (2) b&c (3) a&hb (4 abé&c
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75. Readthefollowing statements
a  River Brahmaputraisan antecedent river.
b) InTibet,itiscalled asTsangpo.
c) Theimportant tributariesare Shyok, Shigar.

& 1808 I3 WEHod

A IPRIE 86 wE PrEcs 8.

h) &30 BBES® FoRD B HLOIE.

C) ¥gE 0w amrden A8 Swopg wHIGeD.

Which of the above statementsis/are correct

DEBS® B HORS SEed

(1) a&c (2) b&c (3) a&hb (4 abé&c

76. Readthefollowing statements
a) Thetota geographical areaof Indiais3.2 million sg.km.
b)  Thesouthern most point of Indialiesin Nicobar islandswhich wasformerly called as
Pygmallion point and now Indirapoint.
c) TheNorth-South extent of Indiaisabout 2100 kms.

& 1808 I3 WEHod

a) PrdSBE Jogo FTHEE DJYFo 3.2 WOHS WEEH 8.oww.

b) erdsSB4Y 58 DH8 Woik A Beres” &od, 08K Frdgo HRODS Fonods
¥ VB0 ROBT® FoNoE B DeVIEB0R.

C) erdstdo o) 2100 8.0 FEHS® eES-E8womr FgHod wod.

Which of the above statementsis/are correct

DBS® B HOFRH ISGew

(1) a&c (20 b&c (3) a&b (4 abé&c

77. Readthefollowing statements
a Geologicaly, peninsular Indiaisone of the oldest part of theworld.
b) Thedopeof the peninsular plateau isin a South-Westerly direction.
c) Mostof theriversin peninsular Indiaflow into Bay of Bengal.

& (808 VI WLH0d
a) & epdDdor, HHoHoSt rdE BrhEe R0 HorESII8.
b) &8y 28eErd Te Jand BFS* &od.

C) &rd8 Bh8ey @38 Skren 20MEPrEos™s o,
Which of the above statementsis/are correct

DEBS® B HORS ISEed
(1) a&c (2) b&c (3) a&hb (4 abé&c
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78. Assertion (A): Tropical decideousforestsare associated with N.E partsof India
Reason(R):  Tropical decideousforest shed their leaves during the dry season.
The correct answer is
(1) Both(A) and (R) aretrueand (R) isthe correct explanation of (A).

(2) Both(A) and (R) aretrue but (R) is not the correct explanation of (A).

(3) (A)istrueand (R) isfalse.

(4) (A)isfaseand (R)istrue.

P8ISS (A): Sdg erdEloS” &Roke eiTrey) @E)OT0X.

528200 (R): I3I5700° &Rode wiorey) wEHen T8 sHod Jodcowd.
DBGS ddrardo

(1) (A) 50050 (R) Bodr 2.0y 500050 (R) 9386 (A) S 503808 dddeo.

(2) (A) $0005» (R) Bodr .53 572 (R) 938 (A) & 938 2580 .

(3) (A) 938 2.5y $o005w (R) 938 &53.

(4) (A) 9386 5% $0005» (R) 938 e.5y.

79. Indiaexportsalarge quantity of Iron and Steel to

(1) Jgpan (2) Singapore (3) Audrdia (4) Madaysa
TESBF0 008 Bdoi0-eEYy, WRESNK IS MAoLEBS) BFo
Q) =23 (2) 2086 (3) @@g@osy (4) SoBacsr

80. Theaverageelevation of Himadri rangesisabout
(1) 5100 meters  (2) 5500 meters  (3) 6100 meters  (4) 6500 meters

TEPB D80S Bevw BE), VTR0 I
(1) 5100 o  (2) 5500 awedy  (3) 6100 0edy  (4) 6500 Qocod

81. TheCoast Lineof Indiaexcluding Islandsisapproximately:
(1) 5100 kms (2) 6100 kms (3) 7100 kms (4) 8100 kms

5531’@@5 5008 PESRE BETD Py IS
(1) 5100 8.2o~. (2) 6100 8.2 (3) 7100 8.2. (4) 8100 8.2~

82. Thestate producing the highest quantity of paper is
(1) West-Bengd (2) AndhraPradesn
(3) MadhyaPradesh (4) Tdangana
sherQ) wdghsomr & BKQY) ovho
(1) 3 BomrS  (2) wsog@as (3) SosgdaT (4) Boorrs
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83. TheKarewasof Kashmir refersto

(1) Alluvia fans (2) Ravines

(3) Glacial deposits (4) Broadriver terraces

5786 B0E), 50D BA8 Ho20oNIB

(1) 2080 Jdd3en (2) s330e0

() LSS Jgaren (4) IsBS $6& Ickogen
84. Nationa Atlasand Thematic Mapping Organization (NATMO) islocated at

(1) NewDdhi (2) Kolkata (3) Chenna (4) Dehradun

SAS @erd 0D §HrE SrgHof HoR &) Few

(1) S>g &0 (2) &Sge (3) 3 (4) IFErS
85. Thestatethat produceshighest quantity of UraniuminIndiais

(1) AndhraPradesh (2) MadhyaPradesh

(3) Bihar (4) WestBengdl

TESTF0S” T WSRO GG T o°Po

(1) sogwas (2) SoE5085 (3) H&6 (4) 53 BorrS
86. SouthIndia‘Manchester city’ is

(1) Mysore (2) Bangauru (3) Kadduru (4) Coimbatore

G860 SRy SroBYE Hegeao’

(1)  0drSH (2) Boioersd (3) sdordH (4) &Soa8rSH

87. A good examplefor lavaplateauinIndiais

(1) Vindhyan Plateau (2) Chotanagapur Plateau
(3) MavaPateau (4) Deccan Plateau
TrESRE0S® S Er&S DEErDE 500D ST

(1) Doy vesran (2) Serarsdré e
(3) Srerg werad (4) &S 28

88. Thetimedifference between Indian standard time and Greenwich meantimeis
(1) 5hours (2) 5— hours (3) 6hours (4) 6— hours
O (PIrBE erd8 BSDW e Bod Heo Sgargdo
(1) 5Ko0een (2) 5— Kotren (3) 6Kotoen (4) 6— Hfotren
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89. Bhakra-Nangal project isconstructed ontheriver

(1) Ravi (2) Bias (3) Sutle (4) Chenab

B I0AS (FEE & 8D EHwkod

1) o (2) Hosr (3) 88 (4) a&S
90. Thestatewith least forested areais

(1) Rgasthan (2) Punjab (3) Hayana (4) Gujarat

wEge) vba Ao Ko T°Po

() ST (2) DHoers (3) Soger (4) oeors

91. Assertion(A): The winners of Nobel Prize in Economics for the year 2016 are

Dr. Oliver Hart and Dr. Bengt Holmostrom.

Reason(R):  They are chosen for the award for their analyses of ‘ market power and
regulation’.

The correct answer is:

(1) Both(A) and (R) aretrue, and (R) isthe correct explanation of (A).

(2) Both(A) and (R) aretrue, but (R) is not the correct explanation of (A).

(3) (A)istrue, but (R) isfalse.

(4) (A)isfase, but (R)istrue.

R&>SS (A): 2016 S° 87 30S" &Il 29I H°G B0 &I Bof FFSYF S0 w7708
SBS 2H0508 HESoT .

s8mo (R): $0°0), &5 e8DE50 508050 oo 70 A1 SBS TS SYob.

é@eé Jdraedo

(1) (A) 508050 (R) Sodr 083, 508050 (A) & (R) 888 dddeo.

(2) (A) %8050 (R) Bodr $383, 520 (A) 8 (R) $38 D580 s°¢%0.

(3). (A) $336, 523 (R) $23.

(4) (A) 8%, 0 (R) $388.

92. Read thefollowing statements about business cycles:
a Thephasesof businesscyclesare: boom, recession, depression and recovery.
b) Therecessionismeasured by gini coefficient.
c) Thephaseof gradua riseinincome, output and employment isdepression.
Trgrd BETOB H00H0AY 1§od TgPpgoy SES0k:
a ara, 88KS0S0 (recession), @gé $53°0¢550, D8N0 W Trenrd $en argrd SEres”
€ 08IP0M.
b) &&H%Q) 2 eago (gini coefficient) oo S8 .
C) oo, &8\ BN &&'gAES” ESoom DR $Fo ©08 Srodgo (depression)

B 08.
Which of the above statements are incorrect? / 2 o°&8¢° $05°Q (853) argpgen AD?
(1) a&hb (2) b&c (3) c&a (4 abé&c
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93. Fromamong thefollowing, which oneisapull factor in emigration?
(1) Employment opportunities (2) Political oppression
(3) Shortage of food (4) War
808 T8S® Soden (ADRAS) FIE8 Ko HS (o70) 57880 A8?
(1) &>d wdscaren (2) orz8oH ©edIS
(3) w58 58 (4) oB5ngo

94. Readthefollowing statementsabout ‘ Physical Quality of Lifelndex’ (PQLI):
a Itisdeveloped by MorrisD Morris.
b) Itisoneof theindicatorsto measure human development.
C) Itsparametersare: standard of living, health and education.

‘TEE B @Dres dorQE (PQLI) % dom080D Bod drgmgeln SEK50é.

3 630 305 & 305 whBY Drdo.

b) S8 0HB £OB FFIros’ b 2.88.

C) &8 358 Pdred JrA FoITI8 58 @rero, ©8Hgo HOWXD D&y @
Loy PSrerody ergrdonr &:08008008.

Which of the above statements are correct?/ 2 S°8e&° K008 agmgen Pa?
(1) a&b (2) b&c (3) c&a (4 ab&c

95. Readthefollowing statements:

a ~ While calculating GDP, income generated by nationals of a country outside the
country istaken into account.

b) By deducting the depreciation charges of plant and machinery from GNP, we get
NNP.

c) Averageincome of the peoplein acountry in afinancial year is called ‘per capita
income’.

Bob Frgpgody KES0é ¢

3 Bro IRBTSBI T, 0BLHYK, AL BTOS” ¢58) HBFe0 HoTHONS B air)
D0K35°8 LT 0.

b) ohogre 88 Sg I6YB SSEeH Bro dBrd)g $od SIFY 8L 8ok
S SL0N0B.

C) =28 @gé (Dg) DoBSBoS® a8 BF e KL BT Er) ‘Fodd BT°000 oI,

Which of the above statements are correct / 3 &°&3¢5° £ argmgen dD?
(1) a&hb (2) b&c (3) c&a (4 abé&c
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96. Readthefollowing statements:

a  Whilecalculating GNP, income generated by national s of acountry residing outside
the country isnot taken into account.

b) Thevalueof nationa incomeadjusted for inflationiscalled as‘real national income'.

c) Theincomeof theindividualsat their disposal after paying direct taxeslikeincome
tax iscalled ‘real income'.

Bob argpgod KES0é ¢

3 of B Puod 388 FTOS ©0d J0THOV W Ar) KBS’ B 0B Sro
BT TO0065°8 HOKeSS 8 SLoE .

b) a8 3¢ r8Srarad el ©H8 (Sgu0os dfwrty 3 T8
2SSO0’ Bed08.

C) o) H&0) 508 PEg8 H)o BOoDS SU0e 28 $g8 $¢ 8 oS’ wod
VTR ‘THIE BT 000 WL

Which of the above statements are incorrect?/ 3 o°83¢® $85°0 Frgmgen ID?

a_

(1) a&b (2) b&c (3) c&a (4) ab&c

97. Readthefollowing statements:

a  Accordingtothe Malthusian theory of population, supply of food grainsincreasein
arithmetic progression.

b) Atthesametime, the population growsin geometric progression.

c) The 2000 population policy in Indiahas along term objective of achieving astable
population by 2035.

808 Trgpgoy SEI0E -

d SrQS sy oo HEY0, WS TIrge PR wo¥ HBY FBST DB

b) @8 $5005008° e2arer 5SS @8 (geometric progression) wsrogood.

C) ardsiddos” 2035 S5 J8 aarerdd FdHomred aer Agdo, 2000 ggorr

[V e{eRNIelAIeTAY
Which of the above statements are correct?/ 3 5°8e° 838 Srgmgeoss Bendod:
(1) a&c (2) b&c (3) a&b (4) ab&c

98. Readthefollowing statements:
A. Censusisconducted under the CensusAct of 1948.
B. TheCensusisconducted onceinevery tenyears.
C. The?2011 Censusisthe 11th Censusin the modern Indian period.
o8 Trgpgody WES0&:
A DD bg (zarer deoroste ©¢30), 1948 @5 6o aorer B8 o wEsm adrg0d.
B. ©& 38 3038000880 aorer Kegrostol 080N,
C.  «6d8 erdsBdos” 2011 &° 2098 aarer Hegrosten 115 DJHom H0Ke38T7)0.

Choose the correct statements / 3 5°8e¢5° $38 Trgpgosy Do Hakod:
(1) A&B (2) B&C (3) C&A (4 AB&C
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Assertion (A) : The 1991 industrial reforms exempted all industries from compulsory
licensing.

Reason (R): At present, there are six industries under compulsory licensing.
The correct answer is:

(1) Both(A) and (R) aretrue, and (R) isthe correct explanation of (A).

(2) Both(A) and (R) aretrue, but (R) isnot the correct explanation of (A).

(3) (A)istrue, but (R) isfalse.

(4) (A)isfase but (R) istrue.

©8>SS (A): 1991 FBTdng dod)demen EHAH0 BYoh g S0 Kok o)
DOFJ00B DBNED Edyowrow.

sdwo (R): ©&80, '$H9)000 SRQoA TS0’ e HOFSe ea)ow.
538 BErESo :

(1) (A) 08050 (R) Sodr 059, $08050 (A) &0 (R) 08 d&5eo.

(2) (A) %8050 (R) Bodr $38, 520 (A) & (R) $385 D580 s°&0.

(3) (A) 5386, 53 (R) $23.

(4) (A) 8%, 0 (R) $388.

100.

P12

Globalisation is beneficial for firms because of the major reason (from among the
following):

(1) It cushionsthem from the effects of eventsin other countries.

(2) It opensup new market opportunities.

(3) Itincreasestherisk and uncertainty of operating in globalising world economy.
(4) It protectsthem against foreign competition.

BHoREw Sy Jogot oo BEFHS08. 08B (Bod FBS w8 B S °Ewo):
(1) 286 d7od® 208 dodbde Harso BHom HHonESn Sl §8)908.
(2) ©HoDEe So §F 88 Srq sl wisTe TS e ow.

(3) ©BdHows e8s S558%80 dgargo VoEos® a0 08050 IS ol HASY
&K erow.

(4) JT& P& L0008 PHoDESD E§J08.
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101. Matchthefollowing:
Author Book Title
a AdamSmith 1)  Poverty and Famines
b) AmarthyaSen i)  TheGenera Theory of Employment,
Interest and Money
c) Dadabai Naurgji i)  TheWeadlthof Nations
d JM.Keynes iv)  Poverty and UnBritishRuleinIndia
8o I BSEHEWok:
Shons 338 (soffod’)
d wdo S 1) 359 & DY
b) edy S i) & 2888 098 & J0ToDI00E, 2080 & Hod
C) ooeron I8 i) & 3G 68 I4Q)
d =@.o. &) V) 58 & 9SOBR S a8 ok

Choose the correct pairs/ $38 agods Jodg Bood:
a b C d

(1 i i i v

(2) i \Y i i

3 v i i i

(4) i i v i

102. Readthefollowing statements:

a)  Theratio of grosscropped areato net cropped areaiscalled asthe cropping intensity’ .

b) Theratioof grossirrigated areato netirrigated areaiscalled asthe'irrigationratio’.

c) The crop production in kilograms per one hectare of land is called as ‘crop
productivity’.

Bob Frgpgod KES0é ¢

d Hoben IS dre AQTQ) Dowew IS JEE AQFes® erhodm SFG Dobe
o’

b) &g A8 mgor RS ST DQTA) DEgD) A TG00 FRS A8 AQGos® ernowm
STO PHAE (SgSraDd) A’

C) &8 T Foos® ) S TENe g0 H0doT TAD BOGHEWE Dobe

GENEEE’
Which of the above statements are correct?/ 3 o°e3e&5° $08 orgmgesy Bendod:
(1) a&b (2) b&c (3) c&a (4) abé&c
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103. Read thefollowing statements:
a Thehighest oil seeds producing statein India, as per 2013-14 records, was Madhya

Pradesh.

b) Thelargest ground nut producing Indian state, as per 2013-14 records, was Tamil
Nadu.

c) Thelargest sugar cane producing state in India, as per 2013-14 records, was Uttar
Pradesh.

808 Trgpgoy SEI0E -
a) 2013-14 oo (©5°80, SRS’ Sl Aoze Hoben W& SoPgHBT

U"@oe.’?5 Hodom .

b) 2013-1485°Ke $5°80, erdEBF0S” B IIH Hotardo wdgdom ETed ooh oS

DoBoT .
C) 2013-1485°Qo ©5°80, erdEBF0S” B Dot wEsEom &EIHRT oo’
HoBow .

Which of the above statements are correct? /3 &°83e5* 838 Trgmgoss Bendod:
(1) a&hb (2) b&c
3 c&a (4 abé&c

104. Read thefollowing statements:
a) ‘Operation Flood wasstarted by the National Dairy Development Board in 1981.
b)  Itwasthelargest integrated dairy development programme of theworld.
c) Thefather of ‘ Operation Flood’ wasDr. Verghese Kurien.
d) Indiaisthesecond largest milk producing countriesin theworld.

Bod Frgpgody KES0é ¢

a) DASS Bowd BHDI0E G 1981 &° ‘wIBAS H& w0 J¢5°Q) wdododod.
b) ©90Lo™ 28 LEDE BWNEYS Fo VPR TR,

0) ‘sBaS pE% @ 565 $80HS evduds.

d) ©HowWosS® Boks WEDE o &S BFomr rIERI0 IBN0.

Which of the above statements are incorrect?

D T8S B0 (823) argwgeosy Do Boood:

(1) ab,c&d (2) b,c&d

(3 b&c (4) a&d
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105. Read thefollowing statements:
a) Reativepoverty ismeasured by gini coefficient and lorenz curve methods.
b) ThePublic Distribution System (PDS) isineffectivein reducing the poverty inAndhra
Pradesh (united) and Tamil Nadu
c) Thepoorest of the poor arein Uttar Pradesh and Chattisgarh.

808 Trgpgody SEI0E -

a 2 reasgo (gini coefficient), e"do& dp Hgoe g 2 5080 S0 B 0K,

b) ©o$@aT (wS0)d), SWdTdd o pes® e dodhsl 3558 (PDS) E8s )
SR0BES® dHogHodomr HIVAHBEL.

0) DhSed ©8 DETD (98508 hETDH) SEHHBT H000 FEENE TS’
&) S.

Which of the above statements are incorrect?

2 8St HB5Q (95533) TP D0DE B0 &:

a_

(1) abé&c (2) b&c (3 a&b (4 c&a
106. Disguised unemploymentinIndiaismainly relatedto:

a  Agricultural sector b) Industrial sector

Cc) Rurd areas d) Urbanareas

(1) a&b (2) c&d (3) a&c (4) bé&d

P EEBI0S” B IHLEFGAE Bod F8S° ILE” dowodo §OA &od?

a)  Sgdras Sorfo b) &dErE Soko

C) (o oz en d) dye ZFosew

(1) a&b (2) c&d (3) a&c (4 bé&d

107. Readthefollowing statements:

ad The difference between total expenditure and total revenue is known as ‘revenue
deficit’.

b) Thedifference between total expenditure and total receipts except market borrowing
and other liabilitiesistermed as‘fiscal deficit’.

c) Thedifference between fiscal deficit and interest payment during the year is called
primary deficit.

808 Trgpgody SEI0E -

a) Boogo Sg0%0, Ingo Tad K¢ BER) TIXTg S0’ VL.

b) Sogo S50 5000 ST E Searen $00%0 BBE WIyen B Ingo Td Koy
56"&?}2 BEIES %" woerd.

C) a8 J058B0S® FFIES S0 Lodasw 26% BOoDe My BEd (@FPEE S’

©0trd.
Which of the above statements are correct?/ 2 o°8e&® $88 argpgoss o Bobod:
(1) a&b (2) b&c (3) c&a (4 ab&c
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108. Which of thefollowing taxes are withdrawn or abolished?

a Octroi b) Interesttax

c) Gifttax d) Estateduty

(1) a&b (2) c&d

3 ab&d (49) b,c&d

8od a7¢3e5° QS D)o I, BHE T B Jadowrsd?

a yFo® b) 3& 2%

C) 8 dd) d)  IRE Lorgdd

(1) a&b (2) c&d

3 ab&d (49) b,c&d

109. What isCash Reserve Ratio (CRR)?
(1) Thefraction of the depositsthat commercial bankslend to the customers.
(2) Thefraction of thedepositsthat RBI must keep with commercial banks.
(3) Thefraction of the depositsthat commercial banks must keep with RBI.

(4) The fraction of the deposits that commercial banks must keep with the central
government.

"B dege &)oﬁgg"{ (CRR) 08 20¢3?2

(1) weodhHod sdag argofoen a8 drad ok wdym ad) wero/aso.

(2) oreBag ergooe S¢ ardE Dadg ergo S8 dared) ok HEH0E erro/Tdo.

(3) RBI S 85008 aredag ergooen S5 &arady Sod o8 W erdo/ado.

(4) Bol Behdto ¢ SHIBB redag wrgoden E5 dared Hod ©y DY
eifo/3S0.

110. A double entry system of record of all economic transactions between the residents of a
country and rest of theworldiscalled

(1) Termsof trade (2) Baanceof trade
(3) Balanceof payments (4) Baanceof exchange

28 B3¢ Qv w0 00080 PHoLoS' Ao Dy 200 o) ¥E sigiorarod dand
Qo FHoS® 85°G VTR 0L E?

(1) 388 devogSen

(2) %88 %0

() ogrd BoHo 3o

(4) %00 FHo
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111. Which of the following statements are correct?
a  Thechairman of Public Accounts Committeeisawayschosen from ruling party.
b)  Thechairman of Public Accounts Committeeisfrom opposition party.
c) Thechief function of Public Accounts Committeeisto examinethereport of CAG.
d) Thecharman of Public Accounts Committeeisappointed by theVice President of India.
(1) b&ec (2) a&b (3) c&d (4) a&d
Bob Tgpges® ORI 2?
d EPErdcie S8 odgid o) I w5 rfs Boddard.
b) @erdde 8 odgic HEE T8 Bodda .
C) a2 (5°A) AIHE HBRO0WEH erdee ED0e8 S0pg IG.
d  erdde §08 et edoghds Jahdodade

&/

(1) b&c (2) a&b (3) c&d (4) a&d

112. Consider the following statements with regard to police reforms:
a National Police Commission was setup in 1977.
b)  PoliceAct Drafting Committee was headed by Padmanabhaiah.
c) Ribeiro Committeewas appointed by the Government of India.
d) Dharamvirawasthe chairman of National Police Commission.
PO Do) Sty Howodod Bod WEdws H8KBoKod:
d 8 DO S 1977 &° Joytn Bohdod.
b) 205 W Sodronm MBS HSTrEhy wdggck.
C) TAHE LR erdd bk AchaoDod.
d) 8o PO SRS WEgEE SE50NE.

Which of the above statements are correct?/ 3 5°&8¢&° S35 aPgpgen ID?
(1) a&b (2) a&c (3 a&d (4 c&d

113. Which of the following statements are correct?
a  S.B.ChavanwasDeputy PrimeMinister in Charan Singh’s Government.
b) Devi La wasdeputy PrimeMinister in National Front Government.
c) Y.B.ChavanwasDeputy PrimeMinister in Chandrashekar’s Government.
d) Thereareseven Deputy Prime Ministers so far.
(1) ab&d (2) b&c (3) abc&d (49) bé&d
8o TES® HBS Trgwgen D?
Q)  $65 DOR HHSENS® ID.D. IS &H B,
b) &% Hol Weheeines® B s &b WA,
C) wWosind Wehe&eins® 3.8, Wars &d .
d) 208385 ABHSH D Herdoen Sod.
(1) ab&d (2) b&c (3 ab,c&d (4) bé&d
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114. Consider thefollowing statements:
a Indian police serviceis constituted under Article 314 of the Constitution
b) ‘Publicorder’ and ‘police figureas1and 2 respectively in statelist.

c) Under entry 60 of theunion list, the centre can extend Jurisdiction of policeforce of
one state to another state.

808 Trgpgoy DdNedotod:
d d8 orergor 314 (HESSn PSSR Q0saHS FOD B8O IBEII8.

b) orergorSns® oog erderes® 1 $00asn 25 woddneom FOD wds $Hdakn FOT
QAGI0L0 .

C) 3o =des® 605 woddom af oo FOD womre HVEY ITE TP IS
BoEBH0 DYBoHEY).

Which of the above statements is/are correct?
P TES* H0RBIB(D) AB(AD)?

a_

(1) a&b (2) b&c
(3) a&c (4 a

115. Consider the following statements:
a) Preventive Detention Act wasmadein 1950.
b) Unlawful Activities Prevention Actisinforce since 2004.

c) = In Gopaan v/is Madras Government case, Supreme Court stated that preventive
detention acts can be made.

o8 Frgmgosy H8HBotod:

3 ©Bo8S ABLT Siyso 1950 &° BowaSE.

b) wSerHS Sr§ddd RIS Wisn 2004 $0D wHens® eHb.

C) oS S0 HER Hehds $HS° oo 56 BIoBS VLS Seren BoSE
D&,

Which of the above statements are correct?

D 8S” E3S argpgen D?

(1) a&c (2) a&b

(3) b&c (4 abé&c

P12 37-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

GS1 Booklet Code | A
116. Matchthefollowing:
Amendment Subj ect
a  8Mhamendment i)  Placing land reforms act in the 9th
Schedule of Constitution
b) 19" amendment i) Increasein professional tax
c) 29" amendment i) Extended the period of reservation of
seatsin Lok Sabhaand Statelegidative
Assembly
d) 60" amendment iv)  Abolishion of election tribunals
8ol & BEDHSWo&:
peITet-o) FOFSTou ISy
a 85 358 1) > dodydee SLINOD Trergorhn
95 TadrgdSes® Bdtasn
b) 195 358e i) 58 959 Doy
C) 295 d58e 1) &°6 def Hodain o wvoYos®
02300AN SO0 PEA0YD)
d 605 358 V) AQfe BargdS 86

The correct answer i/ 588308 $Soardb:
a b C d

1) i iv i i
2) iii iv i i
(3) v i i i
4) i i iv i

117. Which of the following statements are correct?
a Constituent Assembly was suggested by cabinet mission
b)  Thefirst amendment to Preamble was madein 1975
c) 1919 Government of IndiaAct separated state budget from union budget
d) IndianIndependenceAct wasapproved by British Parliament on July 15, 1947

Bob Tgwges® SOOI 2?

8 orergod HORE drDoNE 5DTE AN

b) 032385 1975 S® 300883 3880 Vo00dIS

C) 1919¢&° erdd Hebeg He0 ol a8 ood org wBEK IHBDIE

d) 88 FgBogy Wt HBA DLt eIrB0DS e g 15, 1947
(1) a&d (2) b&c
(3 c&d (4) a&b
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Supreme Court had exercised judicial review authority in:
(1) KeshavanandaBharathi case

(2) MinervaMillscase

(8) Shankarprasad v/sUnionof Indiacase

(4) Golaknath v/sPunjab Government case

oo 5 T°gos VTS T INELT GHRFACDIG:
(1) 335808 88 rgesgadon

(2) 807 Q&) argaghn

(3) #0858 PFE SYD rEE WBArITDS Tmgeegba

(4) FoST§ SO0 Hoerd @Habeg argaghdn

119.

Which of the following statements are correct?

a  Thefirst mobilecourt was started in Haryana

b) Theexecutive chairman of National Legal ServicesAuthority isJusticeAnil R.Dave
c) Article40 providesfor freelega aid

d) Lega ServicesAuthoritiesAct wasenacted in 1987

(1) abé&c (2 ab&d (3) b,c&d (4 a&d

Bobd rgwges® SOOI A?

a s dowds 5050 Q) E0DoAIS SOy @éoé‘

b) J88S OKS H6c0 wEdd S°EgATITE WEgid aRD WIS 6b. &%

C) D88k 4 @d00N &GN Trgaf dHPAH0 EOYoHadId

d xS 68‘3?05 503 zﬁ%éoo 1987 &5° 800520858
(1) abé&c 2) ab&d (3) b,c&d 4) a&d

120.

Prevention of Cruelty to animalsin the Constitutionisin:

(1) Unionlist (2) Statelist

(3) Concurrent list (4) Residuary powers
208 rod AREHD TErFoRING' D @ PSS HR?

(1) So e=de (2) og =as

(B) &sd =ds (4) oSZFxrdHsoren

121.

P12

| dentify thewrong pair

(1) Adamgarh- MadhyaPradesh (2) Bogor - Rgjastan
(3) Sara Nahar Rai - Uttar Pradesh (4) Baghor - Bihar
& 1808 TS B B8 ol ¢ 57

(1) odaonb - Sodg ©IT (2) &°76 - oayS
(3) dorow 5576 ool - wES KDRT (4) =0/°6 - HS6
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122. Matchthefollowing
List -1
(Indus sites)
Mohenjodaro

Hargppa
Rangapur

Kot Diji

TP 2388H 0TI S0:
TS - |

(Dogs Tidss HRFS0w)
0o 8’

0“316@3

(C) Sokirs

(d) 8¢ &=

The correct answer is

HOGE DETFEEN

(@
(b)
(c)
(d)
8od

@
(b)

@ ® © @
@ G O W
@ @ @ (v (i)
@ O () i) W
@ (v i) @0

GET IT ON
Google Play
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List-11
(Features)
(i) Discovery of the Rice husk
(i) First Indussiteto be discovered
(iii) TheLargestIndussite
(iv) Thesitewasdestroyed by Fire
DS - ||
(o8erd00)
(1) S8ty ©DHoRIH
(i) Dogr HEESS Eofrd) B HBFo
(i) e&Hgsons dogr TKdEs Kwido
(iv) of) So oo 5088 HIFo

123.

inthelnduscivilisation.

Reason (R) :

Assertion (A) : Thereisno conclusive proof of the temples are public places of worship

Tothelndus civilisation peopl e religion was perhaps more apersona and

private matter than apublic affair.

The correct answer is:

(1) Both(A) and (R) aretrue and (R) isthe correct explanation of (A)
(2) Both(A) and (R) aretrue but (R) is not the correct explanation of (A)

(3) (A)istruebut (R) isfalse
(4) (A)isfasebut (R)istrue

P8ISS (A): 20> TH0ES T8 Hg JITHINOH ENODOT BarwcHdned 5
Peood 02 8ordd B (@Prodlnen 5 oo B0

80 (R):
S ddrardo ¢

oG B8 Peody o £6§_§D(‘§e§o 50 PoIPerS &)ra“:géo S%‘Séggo&

(1) (A) %0805 (R) a0 (R) (A) & 0 wond 58m
(2) (A) 508050 (R) Bodr dzo 53, (R) (A) & 538 58 5

(3) (A) dzo 59 (R) 85y
(4) (A) 853 53 (R) dzo
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124. Which one of thefollowing statementsis not correct about the ‘ Battle of Ten Kings' ?

It was fought between Bharatas and the Purus on the banks of river Parushini

(2) Bharataswere headed by Purukutsawhilethe Puruswereled by the Sudas

(3) Bharatas emerged victorious despite the help given to the Purus by severa other

(1)

tribes

(4) ThevictoriousBharatasand Vanquished Puruslater combined to formthe*Kurus
DBH0H Trere’ FSNFI8 BowoHoNS & 808 PIBIENS” AG BOWoNH .

(1) "FE8 508050 Y& Be Koy €8 dnGo VDA & wid 20h0

WES BB YrérFody So8asn P BRL doard J°S%0ESc0 SToBI

I LY B0 Y BHK D30 WoBONPDBS ‘WS BHS D2cdn FHoN0
B0 BT75E J22d0 FHODS ‘2388’ B 08050 £.&0VES DK B EOVJon

2)
(3)
(4)

‘KK 3K @Sdzbé’.)oaa"ooa

125.

P12

Match thefollowing

@
(b)
(©)
(d)

List -1
(Officials)
Vrgapdti
Sangrahitri
Jvagrabha
Madyamas

& 1808 A 23EHWoS0:

@
(b)
(c)
(d)

S - |
(85 80en)
D238
doer S
B35S
TIPS

Thecorrect answer is
DOGS DRI HK%0

(1)
(2)
(3
(4)

@ ((® (© (@

Giiy @) v (i)
(v) ) Gi) (i)
(i) @iy @) (@)
M @ i) (v

()

(i)
(iii)
(iv)

(i)

(if)
(iii)
(iv)

41-A

List-11

(Vedic period)

Police Official
Treasurer

Mediator in disputes
Incharge of pasturelands

e - ||

(&00)

O 085D

DPI°HSO

PO HOH 00T wHED

JHITdo 0HoB gPrdoe ZJC5§3§99 08
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126. What wasthe original name givento thefollowers of Mahaveera?
(1) Jainas (2) Arhats (3) Nigranthas (4) Kevdans
L0 0B @000 T8 G & NS DenSREITE?
(1) Boew (2) o8 Sex (3) dEogoen (4) Sdoden
127. Which one of the following statementsis not correct regarding Buddhist nuns.
(1) Buddhist Sanghawas not open to pregnant women
(2) Without permission of Parents or Husband, women can’t enter into Buddhist Sangha
(3) Mothersof unweaned children are not permitted
(4) After obtaining age of 16, women can enter into Sanghawithout anybody permission
TG D0 (dTrgdroB) H02080R I PIBEHN HOWANSE T
(D) HED8M Koil) @ T¢ Ho00d® PITAE B3 oren
(2) &g DopoBnd” BITIE 980w BHHBMA, DY) vond B8 I VKBTI
ENJ8M™ womd
(3) Hvdood E8S é}oé TG Joodns’ BIfo Sk
(4) é’_oo 16 Sosg)oren SIS S0%E D0 WS BHowS F'E JoBns' I8
©E) T° e
128. Matchthefollowing

P12

Group - | Group - 1
(@ VinayaPiteka (i) Birthstoriesof Buddha
(b) SuttaPitaka (i) Codeof conduct for Buddhist monksand nuns
(c) AbidhammaPitaka (iii) Sermonsand Sayingsof Buddha
(d) Jatakas (iv) Philosophical interpretations
& 808 T3 =SHBBIB0:

DS - | e - |
(@ 505 we¥o (i) 08 28y 5)En0850058 ©020600S EFeo
(b) 08 Hego (i) ¢ DFodeo S0asn Sargudoed
©I00DOWIYS IrglEHE dor@hoen

(C) wd&sy ve¥o (iii) 2080 B, BITSD0d B80S0 S
(d) =88 Ege0 (iv) &8 Qo858 H0w0doNY GHRFS0en
The correct answer is
HOGY HIPFTEIN

@ @ (© «
(@ I () B (1) B (11) I (1)
@ @) @ i) ()
(3 i)y @) v )
@ @) Gv) (@) (i)
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129. Which one of thefollowing was not feature of Ashoka’'s Dhamma
(1) Prohibition of animal sacrifice
(2) Human treatment of servants by mastersand prisonersby the Government Officials
(3) Strict Non-violence must befollowed by the people
(4) Replacement of sound of wardrum by sound of peace

& (800 TAS® DB VTR $S50YO Ho0FONS wEwo T

(1) =zodhheo 28 Jago

(2) Hd30He chadrdren, POODL K0S WES e 5785500 ST W
(3) Pzwoe o wirodd FEowdrd

(4) ‘BogBdw FEB0S® TodPBoK @Brhotd

130. Which oneof thefollowing literary works gives usinformation about the political history
of Sathavahanas
(1) BhasasSwapnavasavadaita
(2) SomadevasKathasaritsagara
() SudrakasMricchakatika
(4) Vajika'sKaumudi Mahosava
& 800 IS @ Hogsn TETHTHe Bg) Tasch SOEL BeoHLrod
(1) erend Dgardsse
(2) FBHI Sdoenido
(3) HB38Q Joyey8e38o0
(4)  SgEJ TH08 SoFFHS

131. Identify thetwo saintsonefrom ‘Nayanar’ and another from‘ Alvars bel ongsto untouchable
community during Bhakti Movement in South India.

(1) Nambi Andar Nambi and NammaAlvar

(2) Sabandar and Anda

(3) Nandanar and TiruppanAlvar

(4) ApparandTrimdisa Alvar

58g0 eESBFOS’ B8 e iigiiosion MHSHOS® & Bod TV S0B0N Beius” IS5
®otT 88 RoBIIE® Ko8owHW

(1) S0 @omrd Sod 50050 I8y wegd

(2) 225088 H08030 somS

(3) o8& HS08asn 8D wed

(4) ©HE 0B BSrdFon eeed
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132. Matchthefollowing

Group - | Group-11
(& Agwagosha (i) ‘Mudrarakshasam’
(b) Bana (ii) Sariputraprakarana
(c) kdidasa (iii) Kadambari
(d) Vishakadatta (iv) Maavikagnimitram
8ol I8 BSHSWH0:

DS - | e - |
() @dHst o (i) Sororgdsn
(b) ereancto (i) 7YY K880
() =90 (iii) sS0e0d
(d) Ddapssace (iv) Sr¢dsiydogo

The correct answer is
DOGS DRI &K%

@ @® ( (@
(@ I (71 A 1) B (1) B ()
(2 (@Gv) (@) (i) (i)
) )y i)y  @v) o ()
4) () (i) (v) (i)

133. Assertion (A) : The practice of ‘Sati’ was prevalent among the higher classes during
Harsha s period.
Reason (R):  Harsha'smother committed ‘ Sati’ after the death of her husband
The correct answer is:
(1) Both(A) and (R) aretrue and (R) isthe correct explanation of (A)
(2) Both(A) and (R) aretrue but (R) is not the correct explanation of (A)
(3) (A)istruebut (R)isfase
(4) (A)isfasebut (R) istrue
BELS (A):  THR Tos0S” eHE SESned V8 eTrdinds I8 S PEoBaT
80 (R): &S FG Soderrdoddo FEQ SO S8IT KIS0 FEood
BB BIPGEB0
(1) (A) 08030 (R) Bodor dz0 (R) (A) 0 2000008 D588
(2) (A) 08050 (R) Bodr Qeo, 572 (R) (A) § 280008 D580 5780
(3) (A) dzo 57 (R) 8oy
(4) (A) 853 53 (R) dzo
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134. Who built thefamous‘ Jagannatha Temple' at Puri
(1) KapilendraGagjpati (2) Purushotham Gajpati
(3) Anantavarman Choda (4) Banudevavarman Choda
FBST aiT)E BrwdH AT yE IH5E?
(1) €280 Kedd (2) HSASL K2dHe
(3) ©S0858) &'cs (4) rSBISE) &

135. Oneof thefollowing wasnot aauther of JainaPuranas

(1) Ponna (2) Nanna
(3) Ramna (4) Pampa
& (808 TBS® A5G BS Horeasnedd 3B E)

(1) & (2) &8
(3) &% (4) Hod

136. What isascending order of the following admnistrative units of Cholas

(1) Nadu, Vadanadu, Mandaam, Kurrams

(2) Mandalam, Nadu, Vaanadu and Kurrams
(3) Kurram, Nadu, Valanadu and Mandalams
(4) Kurram, Mandalam, Vaandu and Nadus

PO 500G HBFOS Jeridnod w8 EraEdomr K80t
(1) o, Soard, Sodeo 830 PBES0en

(2) Soodeo, Tk, Sodrd 08030 PoGSoen

() B, T, Soordy H08a50 SodeBnen

(4) o8, Sodwo, ST BN I

137. Who among the foreign travellers visited Vijayanagar empire during the time of

AchyutaDeve Raya.

(1) FernaoNuniz (2) Nicolo de Conti

(3) Domingo Paes (4) DuarteBarbosa

& 808 TAS'D D DAY Hr@Ed WS BHT TN SPL0S® DecBHE (Eoresgdoodo
SISTATS) TN

(1) oS SoogdE (2) IFS® & o8

() @0 DD (4) e S
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138. Matchthefollowing

Group - | Group - 11
(& Al-Beruni (i) TughlagNamah
(b)  AmirKhusrau (ii) Tarikh-i- Firoz Shahi
(c) IbnBattutah (iii) Qanun-i-Masudi
(d) Ziauddin-Barani (iv) Kitab-ul-Rehla
& 1808 I BSDBTH0:

DS - | DS - |
@ oS BEF (i) &d§ s
(b) @& pode (if) ©0H-9-28& o
() =20 etaréd (i) PIrS-2-03008
(d) 2BSreiS 08 (iv) 8e&-esS-0
The correct answer is
BOROS DETETHEN

@ ® (© (@
(I () N (1) I (1) B (1Y)
(2 @)y @ @Gy (i)
(3 (v) iy @) (i)
@ Giiy @) (v (i)
139. Matchthefollowing

Group - | Group -1l

(Sufi Sect) (Founder)
(& TheChishti (i) ShakAbuNgjib
(b)  TheSuhrawardi (i) Bahauddin
(c) TheQadri (i) KhgaMoinuddin
(d) TheNagshband (iv) ShaikhAbdul Qadir Jilani
Bo® T BEHEHTB0:

DS - | DS - |l

(2% E) (F350)
@ a3 (i) 55 w0 &6
(b) Dogrsy (i) 2reds
() w©& (iii) grer I0000508S
(d) S5w0& (iv) @ wepd 966 2

The correct answer is
HOG0H HIFEHIN

@ ® © @
(L @iy @ (v (D)
@ @ @ M W
(3) (i) (i) (i)  (iv)
(4) (i) (v) (i) (i)
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140. Which pair isnot correctly matched
(1) Tombof GesuDargj - Gulbarga (2) Madarasaof Mahammud Gawan - Bidar

(8) ChandMinar - Daulatabad (4) Solah KhambaMosque - Bijapur
& 1808 T°0S® B B8 ol 2 57
(1) A% Soo& d58 - eyo (2) H0550r8 Fs 083 - HSE
(3) @wod 6 - Fosers (4) e oef SN - DS
141. Matchthefollowing
Group - | Group - 11
(@ Meerabai (i) Keertans
(b) Tukaram (i) Bhgans
(c) ChatanyaPrabhu (iii) Abhangas
(d)y Kahir (iv) Dohas
& 1808 I BSDBTH0:
DS - | e - |
(@ doorerow (i) 8gden
(b) &osrorRo (i) efeden
(C) BSSg Webd (iii) egforren
(d) g5 (iv) &Ften

The correct answer iS/ 508308 S8e°S 50
@ M (g

EOT (1) N O N ([ B (%

@ @iy @ @) W)

3 @) i) ) W)

4 @ @) @) )

142. Which one of the following statementsis not correct about Akbar.

(1) During Akbar’s tenure a translation bureau was established for trandating Hindu
Religious textsinto Persion

(2) Akbar accorded permission to the Christiansto build Churchesat Agra, Lahore and
Thatta

(3) Akbarissued afirman abolishing the custom of endlaving prisinorsof war, who were
convertedtolsam

(4) Akbar constructed afamousbuilding ‘ Ibadatkhana’ at Fatehpur Sikri intheyear 1580.

& (800 HIBS500S" ©EEK Ho0HON & DB BN 57D

(1) %0 H0rod 5700s" rodr o8 Hoddnwd HO0HN eAS A eoado Hointodd
VRS args” AT ©o0d

(2) or, ooFF6 085w Sirs” BRI Sodxen $G)ok I ottt wE)E 308 V58
QT

(3) oﬁjc‘deﬁoé& B $r0) oS aFo oS8 J58) HEBI e Bdn w6
G &Ece0erd B

(4) 1580 $058)8065" HBYSE DIBS”® 0§60 QerdSgra ol FSS0 Jjowndod
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143. Matchthefollowing

Group - | Group - 11
(@ Shersha'sTomb (i) Sasasram
(b) Humyun'sTomb (i) ShahadaraBagh-Lahore
(c) Akbar’'sTomb (iii) Delhi
(d) Jahangir'sTomb (iv) Sikindra
& 1808 T BSDBTH0:

DS - | DS - |
(@ Qo dSrs (i) JdFoo
(b) FTodrcdhrs 578 (i) JSorocerh - oFF6
(C) %5 358 (i) &9
(d) 250hb 35578 (iv) 8o

The correct answer iS/ 588308 SXe° 50
@ (® (@© @

L @ i) vy ()

2 @ @ (v (i)

@) av) @) (i) ()

@) @i (v @) @)

144. Which one of the following chronological order iscorrect about the Sikh Gurus

(1) GuruNanak, Gurur Angad, GuruAmardas, GuruArjundev, Guru Ramdas, Guru Har
Gobind, Guru Hari Ral, Guru Hari Kishan, Guru Tgl Bahadur and Guru Gobind Singh

(2)  GuruNanak, GuruAngad, GuruAmardas, Guru Ramdas, Guru Tej Bahadur, Guru Hara
Gobind,, Guru Hari Rai, Guru Hari Kishan, GuruArjundeve and Guru Gobind Singh

(3) GuruNanak, GuruAngad, GuruAmardas, Guru Ramdas, GuruArjundev, Guru Hara
Gobind, GuruHari Rai, Guru Hari Kishan, Guru Tej Bahadur and Guru Gobind Singh

(4) GuruNanak, GuruAmardas, GuruAngad, GuruArjundev, Guru Ramdas, Guru Hara
Gobind, Guru Hari Rai, Guru Hari Kishan, Guru Tef Bahadur and Guru Bobind Singh

& 1808 D&Y, D08 HHY ESrsorwo H0 wood J&?

(1) %8 338, 580 @08, K8 @8, K8 @SB, Hd T°HTR, N TEFDE,
B8 580705, MK HB8AS, MK BEwrErd $o0asn HK Aol

(2) KBISE, 1 9oiB, HX) @SETD, H) T2Tr, K BE wirdxs, Hd EFFIos,
B8 500705, K T8RS, K VRISBS 0B KK FIoldohA

(3) %o I8, Ko @oid, K8 @HETR, KK TSR, KK RIBS, K TEFDOE,
B8 580705, KK HB8AS, MK BEwrdrd $o0asn HK Aol

(4) %8 38, H8 @S8R, KK @0, KK @QITS, Hd THTR, KK TEFDOE,
B8 580705, KK HB8AS, MK BEwrdrd $o0osn HK Aol
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145. Whichfort wastook over by Shivaji from hisuncle Shambaji Mohite
(1) Torana (2) Kayan (3) Supa (4) Javdi
3 B8 ©0¥S oS Foere Iuerd od Q §l eEDoBL
(1) &= (2) 8ooged (3) o (4) =59
146. Matchthefollowing
Group - | Group - 11
(@ Portugese (i) Tharangambedi
(b) Dutch (i) Kozikode
(c) Danes (iii) Nagapatnam
(d) English (iv) Chenngpatnam
& 1808 I BSDBTH0:
S - | S - ||
(@) FEAHD (i) &8oKoerd
(b) & (i) &=&'&
() @Sen (iii) s
(d) 204K (iv) BHoHeno

The correct answer iS/ 588308 S8e° S50
@ (® (© (@

L @ ay (i) (v)

(2 @) @ (i) (v)

(2 (1) (110 B O B ()"

@ @y @O (v (i)

147. Who trand ated the famous Bengali play ‘Neel Darpan’ into Englishlanguage

(1) DinabanduMitra (2) BankimchandraChatarjee
(3) Benoy Choudari (4) Michel Madhusudan Dutta
S0P Bomrd T80 Vo $8)H S [0Hd RS 8 vldbood

(1) &S=008 @ (2) 208% Wod wWwh

(3) O =8 (4) TS Hgodrds S

148. Identify who one of the following Britishers not played important rolein Indian National
CongressbesidesA.O. Hume

(1) WilliamWedderburn (2) GeorgeYule

(3) SirHenry Cotton (4) TheodoreBeck

.2, TG0 TPEOE eSS B0 SPORRS’ PTG AT DEBAGK Kgowsbm
(1) 2% I8606) (2) of oS3

() %6 TR 5 (4) BdIrsE BE
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149. After concluding Lucknow Pact, who of thefollowing wasgiventhetitle* The Ambassador
of Hindu-Muslim Unity”.

(1) MohammedAli Jinnah (2) MoulanaAbdul KadamAzad

(3) SirSayyedAhmedKhan (4) M.A.Ansari

o8 adyjodo S, ‘3?065?—:6339@53 EGSE 070302778’ @0 DK ISB8 HaBK0.
(1) So5ms @O 2o (2) Fors wnd Sora werd

(3) &6 do%gh v bers (4) o%o0.2. wId

150. Civil Disobedience Movement wasformally suspended by Gandhi in

(1) June 1933 (2) December 1933
(3) February 1934 (4) April 1934
TOT QoS G gHoBno mohd NP DE0BH

(1) =~ 1933 (2) &o=x6 1933
(3) s 1934 (4) S®HS 1934

151. Areyou ableto motivate yourself to do adifficult task?

(1) Yes/Ido (2) No, but | motivate others

(3) Itisnotmy job (4) Rarely| dowhenl have money

gR0m &) SHre o FoNEAE °50dS W A% Y AwWFio?

(1) oH0 (2) B&o, 570 9$H 0L (w8 QTS

() & I ==&s (4) QP& 2830, o0 SKE Baay) Sy
152. | amusually ableto prioritize important activities at work and get on with them.

(1) Yesldo (2) No,ldon't

(3) Basedonmy ‘mood’ (4) Onceinawhile

FEEomr S0PIIS & HHQ0LI FEdgd Eos® g By

(1) o930 (2) R[asogdBo

(B) & Hor& o (4) 98" 28>0
153. Small children must get the support from parents before they do new task.

(1) Yes (2) No

(3) They don'tknow anything (4) None

DY) D IBS BE I BTHosBHHvd, dSode st Sdsom 8T d.

(1) oHS0 (2) 3380 8o

(B) TH% 2 BN (4) & e
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154. If you call an unknown person over phone to get some information, is it necessary to
introduce yourself first?

(1) Yes (2) No

(3) Sometimes (4) Itismerewaste of time

DB w8 S0PGIE ISPTEIN FEK, el wHoDE $5388 I BaSrgd) SQSYE,
Bo00crm Q5d) A HBWA0 VR HL0o BSIELr?

(1) 3383 (2) 3380 8o

(3) wdyEsdyc (4) Sy Hos=d

155. | received alot from society, | wish to give back to the society and help it, once | start
earning money.
(1) Yes (2) No
(3) Not necessary (4) Quiteirrational
S B0 $08 08 Fomrso, I Ke) BVoFHOWR0 FVEV VYT, DBF8 I
80A YW, DFPafo By
(D) o930 (2) s
() wod 93380 B (4) wro odoago

156. In the present society, man fails to speak to the other person ‘face to face’ due to the
following reason.

(1) Watchingtelevision for two minutes

(2) Sickness

(3) Lack of modernization

(4) Overuseof cell phones

©8 S5r20S° w8 DA R0FTE $388° Boogrsnd’ SrLrdBERS5Erds Ho s Ckn
AAE3?

(1) DBocd davre i ErSEBA oty S

(2) oo Hgsn

() ©go88 BEFSe0

(4) 2SFK vsorr Frdbo

157. | believe cooking isthejob of women and doing adventuresisthe job of men.
Am | thinking correctly?
(1) No (2) Yes
(3) Partidly (4) Youwill never bewrong
SoLrBoSoto el HJ, TP NEF05 ddoeo TFooko Sofard) S ©d IH
SSodoan)do. I DOMTR BSTARIT)T?
(1) 3B (2) @
(3) >8gomr (4) DY Y Sy 5
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158. What could be the main reason for the decline of female population in our country?
(1) Eradicationof poverty

(2) Literacy

(3) Matriarchy

(4) Femaefoeticide

03RFoe® Lf’_ooe) Doy KeQOROM SAFSLTIE S0PGIP 5°CH0 JNE?

(1) B850 e
(2) ogodgs

(3) So&ydgsogo

(4) edEire dgen

159. Inour country, the upliftment of ‘weaker sections' isinthehandsof the..........
(1) Voluntary organizations
(2) Neighbours
(3) Government
(4) Friends
H08BH0S® ‘word STo’ wehgH)d ©I6 IS0 DES® GHA?
(1) Bgedods Hogen
(2) BSBKFK
(3)  Bebesgs0
(4) soen

”

160. “Knowing othersisintelligence; knowing yourself is
(1) Wisdom
(2) Sn
(3) Impossible
(4) Egoistic
"33 ) 980D BeoEHWO BIB B, A 80D JPY BLodEHWO WoB
(1) =0 (2) &>do
(3) o>rdgo (4) ©HoardERNSH

2
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161.

GET IT ON
Google Play

GS1

| dentify thewrong pair.

(1) Wanaparthy Samsthan - Janumpal ly Family
(2) DomakondaSamasthan - Kamineni Family
(3) PalvanchaSamasthan- Machirgju Family
(4) Kollapur Samasthan - Surabhi Family

005 28 Dfowok.

(1) 5858 doydo - 20Hd SoFo
(2) &ovos 50@;&’)0 - IV Koo
(3) regous éo@;&’l)o - SeQorer Sodo
(4) Serirdd soqpso - 8 Sodo

Booklet Code A

162.

Match thefollowing :

Group - | Group - 11
(& B.NasngRao (i) Chillaradevullu
(b) B.S Narayana (i) Kubusam
(c) Srinath (ii1) Nimgjanam
(d) T.MadhavRao (iv) Mabhoomi
& 1808 A 2EHSWSL:

DS - | e - |
(@ B.3gyolod (i) D8 BIN)
(b) B.S.&rorodoe (il) oendo
(c) g=~& (iii) Qdogdo
(d) T 35S0 (iv) Sovgforo

@ @® (@ @
(1 (i) @) @) ()
2 @) @ @) (i)
()N O N () B () B 1)
4 Gv) i) G (0

163.

P12

|dentify the correct pair

(1) Nikhileswar - Maro Ramayanam
(2) Gadiyaram RamakrishnaSarma- ShataPatram
(3) AllamRgaiah - GayapaddaRatri
(4) AvvulaPichaiah- Sagatu Jeevi
BB wSK K00uH0

(1) PBHE - K08 ordrcdoeo

(3) oo Tradhyg - MaLHg o @

53-A

(2) Hacirdo oosoyh ¥6) - ¥85E0
(4) sHo dHohg - dren £
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164. Matchthefollowing:

Group - | Group - 11
(@ Vedkumar (i) TdanganaNyayaSangramamu
(b) Gopi Reddy Chandrashekar Reddy (i) TelanganaHistory Society
(c) TadakamalaVivek (iii) Pranahita
(d) AllamNarayana (iv) DeccanlLand
& 1808 A EHSWSN:

S - | DS - ||
@ I8 B3r5 () Beomer Irgas doyrsoo
(b) FUoG Wosins 3G (i) Boomer g DS
(C) Sud8He I3F (iii) (ot
(d) oo srorahes (iv) 88 ook

@ @® (@© @
(D @iy @ i) (v)
(2 (v (@) @) (i)
(3 Gy @) av) ()
@ @ v >i) ()

165. Who among thefollowing submitted amemorandum to Fazal Ali Commissionin July, 1954
when it cameto Karimnagar requesting for Vishalandra
(1) AnandaRaoThota (2) NookaaRamachandraReddy
(3) K.Jayashanker (4) Kaoji NarayanaRao
28, 19545 86085668 SNS Has sd EDASE JTerold bcrbéw Lo S
QTRS JE@°Q) D308y 0B
(1) esSogsory & (2) 8o ooSotomBd
(3) 8. 2c¥o8s (4) sz o°cHTrY)

166. Which of the following Statementsis not correct with regard to gentlemen agreement.

(1) ToobtainjobsinTelangana, the Mulki rule hasto befollowed.

(2) Selling and buying of agricultureal landsin Telanganashould be under the control of
State Home Ministry.

(3) Tolook after the overall devel opment of theregion aTelangana Regional Committee
should be appointed.

(4) Amongthe Ministers 60% should be from Andhraand 40%from Telangana.

DG S 2D T8 Howodod 808 PIFTOS HOSAE AB.

(1) Beoomrwrs® adigme IS S0 draods wdddowd.

(2) Boormrerds® girdnen @ ko 80k TG0 Ty TTr0s00@8iTy 8EiSgoS” 28md.

(3) & o DB wHSYE HSgRES Beomn (oo B AHoTE.

(4) Sooeoes® 60 TS0 0| od S0dasw 40 FEo Bwomre Hod word.
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167. The 10t July, 1968 was observed as

(1) TeanganaHakkulaDinam (2) TeanganaporataDinam

(3) TelanganaHaamedlaDinam (4) TelanganaKorikalaDinam

10 28, 1968 & >ro0Sd

(1) 8Boorre TEyodSo (2) Bowomrs Foreodlo

(3) Beormrm FFhwdlo (4) Boormrsm §0swdI0
168. Inwhich of thefollowing places* Telangana Pranthiya Samithi’ wasformed.

(1) Hyderabad (2) Pdwancha (3) Warangd (4) Nlandu

BoBTES® JFoB0S® ‘Boome (o8 B8’ ATy Bawdod

(1) Zrsoverdd (2) regoxs (3) SBoiS (4) 2avodkd

169. Onwhichdatein 1969 Mr. KrishnaMurthy started fast unto death at Palvancha
(1) 8" January (2) 9" January (3) 10MJanuary  (4) 11t January
1969 &° o 8ES regoles® BR%rg O Hg8 widn TGS OF FIoowrdd
(1) 8 =338 (2) 9 =558 (3) 10, =558 (4) 11 =358

170. Assertion (A) : The State Government failed to impliment safeguards given to the people

of Telanganain the gentlemen’sagreemnet.

Reason(R):  1n1969 studentsand youth thought securing the seperate state isthe only
solution to their problems.

The correct answer is:

(1) Both(A) and (R) aretrue and (R) isthe correct explanation of (A).

(2) Both(A) and (R) aretrue but (R) isnot the correct explanation of (A) .

(3) (A)istruebut (R) isfalse.

(4) (A)isfasebut (R) istrue

P8FES (A): DI 2B)080S" Boomen Paosd WS FEnod wdoen
BODHE0S® (HehEt0 DHOHN0E.

s°8e0 (R): 1969¢5° dargdaen, osnSser BBgE oTLA) TROWEHED0 S
ézﬁoégo(‘o&oﬁé 0“363"2;60 O PO K.

é@‘é Jddraelo

(1) (A) S080s0 (R) Bodr Sg8rigomn K38, S0dasn (A) & (R) 8§08 e,

(2) (A) S08050 (R) Bodr Sg8igom $350, 52 (A) & (R) 938 d58e0 5°¢k.

(3) (A)dzo 572 (R) &5y.

(4) (A) 85y 59 (R) dwo.

171. Identify the correct pair
(1) J Eshwaribai - CongressM.L.A. (2) T.N. Sadaakshmi - Deputy Speaker
(3) SumitraDevi - JanasanghM.L.A. (4) Shantabai - Republican Party M.L.A.
35BS @SB KoBB0
(1) 3. &¥beron - 5°oRR a0 dgbgen (2) B.000. dTef) - drgd 0NEE
(3) 20DEBD - a3V TSV (4) FTosrerow - DIPEIFY TOSVAge0
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172. Who among the following headed the full bench of the Supreme Court which set aside the
GO.No.: 36in 1969.

(1) JusticeD.P.Dhar (2) JusticeR.S. Sarkaria
(3) JusticeM.C.Chagla (4) JusticeM. Hidayatulla
1969 &° @.8. 36 Ko §FIES DR0E'E HEBOW WHHE B

(1) =32 &2.0°6

(2) 23R ©6.09080.507 005

(3) =32 D, oo

(4) 232 . o

173. Which political party wasthefirst to passaresol ution requesting the Government of India
to form the Telangana State in 1969.

(1) Communist Party of India (2) SwatantraParty

(3) PrgaSociadlist Party (4) Janasangh Party

19695° ) a8 rf Boomee T°aLR) JTYENBEHR EE [Hehemgd) S Somydo
Dok,

(1) 88 Eorgddy f (2) g0 >

(3) e FROY > (4) 285050 >§

174. InApril, 1969 the Central government appointed aCommittee headed by Justice Wanchoo
and two membersto study the problems of the Telanganaempl oyeesand suggest solutions,
Who were the other members.

(1) M.C. Setalwad and Nerende
(2) R.S.KhannaandH.N.Misra
(3) M.B.Desa andM.C. Setalwad
(4) NerendeandAjay Mathur

Bwomre &gy HHd O wEsado B BB e SrdoBtocss 1969 dRSs*
'éo@@aﬁoéogo 2RV ToET BFFEIMT [P ¥SEJgO S’ EDEBD DO500N0s. & Slale®
Se0gBB60.

(1) M.CRr&Sar&E 508050 I00a8

(2) RS 37 $50080 HN. @

(3) M.B.&70n L0850 M.C. ueoSaE

(4) V0@ 508050 SRHIrErE
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175. Aspart of the agitation for separate Telangana State17t" June, 1969 was observed as
(1) YouthDay (2) Senior Citizen'sDay
(3) Women's Day (4) Farmer’sDay
©8g8 Boomrnog wEgHhos® riomr ens 17, 1969 8o 28:)80a7)50.
(1) oSS58 &ddo (2) SVrSyke dIo
(3) Sorde &S0 (4) 3o do

176. By which G.O. theAndhra Pradesh Government released Article 371 - D in October, 1975.
w8, 1975¢° O GO. m0° woFWaT Rabeto wd8S 371 - D ddode B2od

(1) GO.No.-671 (2) GO.No.-672
(3) GO.No.-673 (4) GO.No.- 674

177. Inwhichyear the Government of AndhraPradesh declared Jagityal and Sircillaasdisturbed

areas.

BOFWET Wehdio @ JoSHFoS® whcrgw HHOEL OV SO (Fosrwom
ELEoNod

(1) 1977 (2) 1978 (3) 1979 (4) 1980

178. The State Government lifted the ban on People’ swar group in 2004 to facilitate
(1) TheNaxalitestoJoin mainstream
(2) = Takswiththe Government
(3) Tohaveadatabase of the Naxalites
(4) Torehabilitatethe Naxalites
2004 &° oo a0 DHQTE HrD) P dado B0
(1) S5HBew 28258 ©H08S° Sodm 8
(2) ©ahdos SHesdo
(3) $%BeLSO $02060DS JBIFTEIE SASTEEHW VLI
(4) IEHBLS YSoardo E9)oookodd

179. Which Chief Minister abolished the Telangana Regional Development Board

(1) K.Vijayabhasker Reddy (2) N.T.RamaReo

(3) N.ChandrababuNaidu (4) Y.S. Raasekher Reddy
Boomer (o8O BHIB SRS S VIS S0pgHoo® HKH

(1) 3. ducdherdd o8 (2) 2:.8. oodorory)

() 3. WoSerenarosndd (4) 3.9%. oc=3pEOG

P12 57-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24(7|

180.

GET IT ON
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| dentify thewrong pair.

(1) Teanganalnformation Trust - T. Prabhakar

(2) TelanganaSangharshanaSamithi - Anand Rao Thota

(3) Telanganal egidatorsForum - V. Jagapathi Rao

(4) OsmaniaUniversity forumfor Telangana- Dr. G, Lakshman
HO5Q wSS KgoTHBM.

(1) Boormre alHERASR - 8. Her8s

(2) Beomre dode N8 - eslolo '

(3) Boomresr B FED - J. EHETY

(4) 5 rISBBFSo D6 Bvomrm - & R.o{ S

GS1 Booklet Code | A

181.

Thearticle 3 of Indian constitution allows
(@ Increasetheareaof any state

(b) Daminishtheareof any state

(c) Alter theboundariesof theany state
(d) Alter thenameof any state

28 0regorSng’A w88S 3 stdo
@ o"(a ke DYGoso owSBDo.
(b o"p o DJGoso ShousHwnLo.
(© oripe Dol Srd)duig)lo.
(d) o 'ﬁ)(i)m Soed)Hesyo.

(1) (@, (b), (d)

(2) (@, (b), (), (d)

(3 (b), (0), (d)

(4) (@@, (b), ()

182.

P12

Who among thefollowing wrote the book ‘ Telangana Rastrodyamalu’ .
(1) Chennamaneni HanumanthaRao

(2) Devulapalli VenkateswvaraRao

(3) AdirguVenkateswaraRao

(4) MadaaVeerabhadraRao

808 T80 BoomeTrEPdsired’ (Hoad) $Q0D0RHK
(1) B[S Tdodoosoes) (2) BHHO I08BHLTD
(3) wdTer R08BIETH (4) Srore DK ETH
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183. Matchlist | withlist - 11 and select the correct answer

List -1 List-11
(@ TeanganaJanasabha (i) August, 1997
(b) Bhuvanagiri Public Meeseting (i) October, 1997
(c) TdanganaMahaSabha (11 July, 1998
(d) Tdanganalkyavedika (iv) March, 1997
e | e - I8 28500 I35 JSrmrdHsnd A8

DS - | e - |
(@ Boomresr 233 (1) ey, 1997
(b) 2H335ad D2 (i) o8, 1997
(C) Boomresr 058 (iii) ==, 1998
(d) Beoomrer n8gR08 (iv) &6y, 1997

The correct answer is
DOGE DITE K20

@ ® ( (d
M Gv) i) () (i)
2 O (i) (i) ~ (v)
Q) @) (v @) (i)
4 @) @iy @@ (v

184. Who among the following was the chief guest for the * Simhagarjana’ Public Meeting at
Karimnagar in May, 2001.

(1) Sharad Pawar (2) Devegowda

(3) Shiboo Soren (4) AjitSingh

20, 20015 §605K56e5° 228A8 ‘f’ooo“rﬁgsé’ D580 Sopg VBT & (8o FBST SN0B IV
(1) %88 S8 (2) a3F

(3) 323 (4) o=&EdR

185. Inwhich placethefirst anniversary of the formation of the Telangana Rastra Samithi was
heldin April 2002.

(1) Warangd (2) Medak
(3) Nagonda (4) Siddipeta
A©S, 2002 &° Boormrn oINS F0ses BATHNIBIT Q) A& ¢ 208
(1) S8oKS (2) SpsE
(3) S0 (4) 28
g 3
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186. Who of the following did not attend the ‘ Jala Sadhana meeting held at parade grounds,
Secundarabad in January, 2003.

(1) ShaadYadav (2) MedhaPatkar
(3) RamvilasPaswvan (4) Shiboo Soren
23550, 2003 &° d8odTreardd HBHFT oS’ @BAS BOFFS I BodTOST DB
S 5B
(1) #5656 (2) oo s
(3) TS FTCS (4) 3er S
187. g(r)%rg which oneof thefollowing placesTRS launched ‘ Pallebata’ programmein October,
(1) Vemulawada (2) Medaram
(3) Mancherial (4) Alampur
w28, 2003 S° Boomerorg d8 DB’ SEGEIT) & 808 (Fos0S” I§.& Sod
EeeIeLAlTAL TN
(1) Idooard (2) Somdo
(3) Soodorge (4) ooors

188. Identify thewrong pair
(1) SamaraSankharavam - Siddipet
(2) TelanganaAtmagauravaSabha- Nalgonda
(3) TelanganaSamburau- Hyderabad
(4) TelangananirasanaSabha- Adilabad

005 28 Mfolok.
(1) dSogdogrordo - D@L (2) Boome &)FTESY - Soffodk

(3) Boorre Howvren - doerdd (4) Bworre JASHS Y - sdererdd

189. TRSorganised an awareness programme‘ Telangana Soyi’ for

(1) Students (2) Youth

(3) Women (4) Party workers

B6ID Boomerdron’ ¥l wf BSLg0 EOAT SEGESr) ASTroDod.
() SMINGSEES (2) oBods5

(3) Soorgoso (4) >§ ssg8deosd
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190. Inwhich placein October, 2009 * TelanganaUdyogula Garjana’ was organised.

(1) Siddipeta (2) Karimnagar (3) Janagaon (4) Kamareddy

w80, 20098° Boomrn w&gHo KES I8 .E JEEroT .

(1) g% (2) 86086 (3) =m0 (4) 55708
191. TheTelanganaJoint Action Committee wasformedin 2009 on

(1) 21, December (2) 22, December

(3) 23, December (4) 24, December

2009 &* Bwomre @000l BrES S8 AAS &

(1) 21, &%oaaH (2) 22 &%oadH

(3) 23 &%oedH (4) 24, &%oadd
192. ‘Dastram’ acollection of Telanganastorieswaswritten by

(1) Sangisetti Srinivas (2) AllanRgaiah

(3) GudaAnjaiah (4) Boya Jangaiah

oo §¥o dodudo ‘EHo EDoAST

(1) %0a38 I (2) oo oraolhyg

(3) #orcs woaadog (4) &5°c% eorcdog

193. Fromwhich one of thefollowing placesin Mahaboobnagar district B.J.P. started * Telangana
Poruyatra’ in January, 2012.

(1) Alampur (2) Krishna (3) Undavali (4) Bichupalli
BoBTBS® LoireardSKs 2ers® o @rodo $08 2550, 2012¢° H.A.D. Boomre FETE
Er8ooNo

(1) soodrs (2) 83 (3) wousd (4) D5

194. Identify thewrong pair
(1) TelanganaPrgaFront - Gaddar
(2) TelanganaUnited Front - AkulaBhoomaiah
(3) NagaaraBheri - Belliah Naik
(4) Tudum Debba- NarasingaRao
00570 w8 ook,
(1) Beomrw R0 - K6
(2) Boomm BNIBE Poll - e rdoody
(3) &moe B0 - Beahg T°aE
(4) &Scdoo Bey) - Yoo
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195. SrikanthaChari who Committed suicidefor the cause of Telanganahailed fromwhichvillage.
(1) Narkatpally (2) Atmakur
(3) Mothkur (4) Vdigonda
Boomrs’Ho 2OTS0 VIS 35 08w 0 JITIrIE BoBIT %
(1) &899 (2) w&5rs
(3) [rsm o (4) SOF0s
196. Matchlist | withlist - 11 and select the correct answer
List -1 List-11
(8 GudaAnjaah (i) ChoodaChakkani talli
(b) Gorati Venkanna (i) Vandandamma
(c) Andesi (i) VuruManadira
(d) Jayarg (iv) PaleKanneeru
e | rde || & 28000 $38 dSrarddndy §8oirodn.
TS - | DS - ||
(@ Horcs woaadog (1) Srsus8d 89
(b) A6 Tosd (i) Sodoreosoy
(C) =038 (i) €88 Soddoe
(d) =coE (iv) 9B 80

The correct answer is
DOGE DITE K0
@ @® (o @
(€ R (110 I () B () B (1)
(2 Gv) (i) @) (i)
(3 (i) — Gv) (i) ()
4 @  aG) (i) ()
197. Who among thefollowing edited the book * TelanganaMali Taram Kathalu’
(1) DevakiDevi
(2) Shyamda
(3) Mudiganti SujathaReddy
(4) Vimda
BobT8e® Boomer 00880 &0 Kom 8 dorEBoen
(D) @88 32 (2) wgdoo
(3) SwbKodd Soeretd (4) Ddoo
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198. Identify thewrong pair
(1) TeanganaJourndist Forum- Kalam Kavathu
(2) H.M.T.V.Channd - ‘Dasha-Disha
(3) SamaaSadasva- Yaada
(4) A.Nagargu- JaanapadaJatara
205 28 Dfowok.
(1) Beomrm 280 Fdo - Ewosadd
(2) 5050 8 TS - GF - &F
() o Jzes - oS
(4) Q. >horer - IDHS TS

199. On which date in 2013 O.U. Students Joint Action Committee Organised a big meeting
caled‘ TelanganaYudhaBheri’

(1) 21, September (2) 22, September
(3) 23, September (4) 24, September

2013 &* Q 8688 G0 0T ABBE Derg 08y S°EgEe DS ‘BOo oﬁooccgﬁé’
DES ¥ DG D 20DOB.

(1) 21 2dPoadd (2) 22 DPHowdd
(3) 23 dPoadd (4) 24, DHoadd
200. ThePresident of Indiasigned the TelanganaBill on

(1) 1, March, 2014 (2) 2,March, 2014
(3) 3, March, 2014 (4) 4, March, 2014
Boomre DD "R N8 Jogso V1S e

(1) 1 58y, 2014 (2) 2 S0y, 2014
(3) 3 &gy, 2014 (4) 4 S8y, 2014
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SPACE FOR ROUGH WORK
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